
ITEM LVPRTNO SUPLIER ITMDESC
CH25-B01.01    40210N0HP000   QJ    Throttle Grip Assy                                          
CH25-B01.02    40600N0HP000   QJ    Right Switch Assy                                           
CH25-B01.03    40300N0HP000   QJ    Throttle Cable Assy                                         
CH25-B01.04    40330N0HP000   QJ    Throttle Cable Assy (Return)                                
CH25-B01.06    40500N0HP000   QJ    Left Switch Assy                                            
CH25-B01.07    40070N0HP000   QJ    Left Grip Assy                                              
CH25-B01.08    40400N0HP000   QJ    Clutch Cable Assy                                           
CH25-B01.09    08370N0HP000   QJ    Gear Shift Lever Assy                                       
CH25-B01.10    40710N0HP000   QJ    Brake Pedal Assy                                            
CH25-B01.11    40350N0HP000   QJ    Choke Cable Assy                                            
CH25-B01.12    40470N0HP000   QJ    Right Mirror                                                
CH25-B01.13    40460N0HP000   QJ    Left Mirror                                                 
CH25-B01.14    40101N0HP000   QJ    Handlebar                                                   
CH25-B01.29    40031N0HP000   QJ    Balancer                                                    
CH25-B01.30    40033K0BP000   QJ    Rubber Plug                                                 
CH25-B01.33    40019N0HP000   QJ    Brake Light Spring                                          
CH25-B01.34    40702N0HP000   QJ    Brake Return Spring                                         
CH25-B01.39    40081G0KP000   QJ    Lever Cover Bracket                                         
CH25-B01.40    40082G0KP000   QJ    Lever Cover Bracket                                         
CH25-B01.43    40084B0KP000   QJ    Left Lever - Clutch                                         
CH25-B02.01    43102N0HP000   QJ    Lower Bracket                                               
CH25-B02.02    43430G0KP000   QJ    Upper Bracket Cushion                                       
CH25-B02.03    4330050BP000   QJ    Front Right Absorber Assy                                   
CH25-B02.04    43200K0BP000   QJ    Front Left Absorber Assy                                    
CH25-B02.08    43011N0HP000   QJ    Upper Bracket Cushion                                       
CH25-B02.09    43049G0KP000   QJ    Stem Fixing Bolt                                            
CH25-B02.11    43001G0KP000   QJ    Upper Bracket Cushion                                       
CH25-B02.12    43005G0KP000   QJ    Dust Cover                                                  
CH25-B02.13    43002G0KP000   QJ    Lower Bracket                                               
CH25-B02.14    43003G0KP000   QJ    Upper Bracket Cushion                                       
CH25-B02.15    43004G0KP000   QJ    Lower Bracket                                               
CH25-B02.17    65822G0KP000   QJ    Nut Cap                                                     
CH25-B02.18    43014G0KP000   QJ    Upper Handlebar Bracket                                     
CH25-B02.19    43410G0KP000   QJ    Lower Handlebar Bracket                                     
CH25-B02.27    B06010200000   QJ    Steel Ball                                                  
CH25-B02.28    B02050803064   QJ    M8 x 30 Screw                                               
CH25-B02.38    43120N0HP000   QJ    Steering Stem Cushion                                       
CH25-B03       44000N0HP000NOT QJ    Front Wheel Rim                                             
CH25-B03.02    44014G0KP000   QJ    Front Wheel Nipple                                          
CH25-B03.03    44012G0KP000   QJ    Inner Spoke - Front                                         
CH25-B03.04    44011G0KP000   QJ    Outer Spoke - Front                                         
CH25-B03.05    44013G0KP000   QJ    Tube Protector - Front                                      
CH25-B03.06    B1404Z1102C0   QJ    Valve Cap                                                   
CH25-B03.07    44004G0KP000   QJ    Front Wheel Axle                                            
CH25-B03.08    44006G0KP000   QJ    Spacer                                                      
CH25-B03.09    44110G0KP000   QJ    Front Wheel Hub                                             
CH25-B03.10    44300G0KP000   QJ    Dust Seal                                                   
CH25-B03.11    44017G0KP000   QJ    Dust Cover                                                  
CH25-B03.12    44016G0KP000   QJ    Spacer                                                      
CH25-B03.13    44200N0HP000   QJ    Speedometer Drive Unit                                      
CH25-B03.22    B140130018AA   QJ    3.0 x 18 Tire                                               
CH25-B03.23    B140230018AA   QJ    3.0 x 18 Tube                                               
CH25-B03.24    B12016020200   QJ    Bearing                                                     
CH25-B04.01    45000G0KP000   QJ    Disc Brake Assy                                             
CH25-B04.05    45033G0KP000   QJ    Brake Disc                                                  
CH25-B04.06    B02070801624   QJ    M8 x 16 Screw                                               
CH25-B04.07    B01091003064   QJ    Bolt M10x1.25x30                                            
CH25-B04.08    NOT ASSIGNED   QJ    Master Cylinder                                             
CH25-B04.09    45400G0KP000   QJ    Caliper Assy                                                



CH25-B04.10    45200G0KP000   QJ    Front Brake Hose                                            
CH25-B04.11    45022G0KP000   QJ    Disc Brake Lever                                            
CH25-B04.12    45037G0KP000   QJ    Union Bolt                                                  
CH25-B04.13    08021G0K000    QJ    Washer                                                      
CH25-B04.14    45120G0KP000   QJ    Brake Pads   (Disc)                                         
CH25-B05.01    47100N0HP000   QJ    Master Muffler Assy                                         
CH25-B05.02    47006J0AP000   QJ    Nut Cap                                                     
CH25-B05.03    47800N0HP000   QJ    Exhaust Pipe Gasket                                         
CH25-B05.06    47500N0HP000   QJ    Exhaust Header                                              
CH25-B05.07    47840N0HP000   QJ    Pipe                                                        
CH25-B05.11    47035N0HP000   QJ    Bushing                                                     
CH25-B06.01    49000N0HP000   QJ    Air Cleaner Assy                                            
CH25-B06.04    49700N0HP000   QJ    Cap Assembly                                                
CH25-B06.06    49360N0HP000   QJ    Bracket                                                     
CH25-B06.11    49014N0HP000   QJ    Carburetor Fitting                                          
CH25-B06.12    49350N0HP000   QJ    Clamp                                                       
CH25-B06.13    49200N0HP000OT QJ    Air Filter Element                                          
CH25-B07.01    50100N0HP000   QJ    Fuel Tank                                                   
CH25-B07.01CA  50100N0HP000*CA QJ    Fuel Tank (California)                                      
CH25-B07.02    50720N0HP000   QJ    Petcock                                                     
CH25-B07.03    50200N0HP000   QJ    Fuel Tank Cap                                               
CH25-B07.04    50005N0HP000   QJ    Fuel Tank Front Cushion                                     
CH25-B07.05    50006N0HP000   QJ    Fuel Tank Rear Cushion                                      
CH25-B07.08    50710N0HP000   QJ    Fitting Switch                                              
CH25-B07.09    50310N0HP000   QJ    Fuel Tank Vacuum Valve                                      
CH25-B07.10    B01090803564   QJ    M8 x 35 Flange Bolt                                         
CH25-B07.11    50301N0HP000   QJ    Hose 1                                                      
CH25-B07.12    50302N0HP000   QJ    Hose 2                                                      
CH25-B07.13    50306N0HP000   QJ    Clip                                                        
CH25-B07.14    50008N0HP000   QJ    T - Connector                                               
CH25-B07.15    50017N0HP000   QJ    Hose Sleeve                                                 
CH25-B07.16    50303N0HP000   QJ    Hose 3                                                      
CH25-B07.17    50304N-HP000   QJ    Hose 4                                                      
CH25-B07.18    50014N0HP000   QJ    Fitting                                                     
CH25-B07.19    B07090000804   QJ    8 Washer                                                    
CH25-B08.01    51100N0HP000   QJ    Driver's Seat                                               
CH25-B08.02    B01090602064   QJ    M6 x 20 Bolt                                                
CH25-B08.03    51200K0BP000   QJ    Passenger's Seat                                            
CH25-B08.04    65823G0KP000   QJ    Cap Assembly                                                
CH25-B08.05    B02051006564   QJ    M10 x 65 Screw                                              
CH25-B08.06    51305G0KP000   QJ    Bracket                                                     
CH25-B08.07    51304G0KP000   QJ    Bracket Bushing                                             
CH25-B08.08    51301K0BP000   QJ    Left Bracket                                                
CH25-B08.10    51302K0BP000   QJ    Right Bracket                                               
CH25-B08.14    51310G0KP000   QJ    Backrest                                                    
CH25-B08.17    51303G0KP000   QJ    Rear Seat Bracket                                           
CH25-B08.20    51306K0BP000   QJ    Bracket                                                     
CH25-B09.01    53100N0HP000   QJ    Rear Swing Arm                                              
CH25-B09.02    43220N0HP000   QJ    Dust Seal                                                   
CH25-B09.03    53007N0HP000   QJ    Bushing                                                     
CH25-B09.04    53008N0HP000   QJ    Bushing                                                     
CH25-B09.05    B04171212564   QJ    Nut                                                         
CH25-B09.09    53001N0HP000   QJ    Pivot Shaft                                                 
CH25-B09.10    53301N0HP000   QJ    Torque Link                                                 
CH25-B09.19    53017N0HP000   QJ    Cushion                                                     
CH25-B10       NOT ASSIGNED   QJ    Rear Wheel Rim                                              
CH25-B10.02    54013K0BP000   QJ    Tube Protector                                              
CH25-B10.03    54014K0BP000   QJ    Rear Wheel Nipple                                           
CH25-B10.04    54011K0BP000   QJ    Outer Spoke - Rear                                          
CH25-B10.05    54012K0BP000   QJ    Inner Spoke - Rear                                          



CH25-B10.06    54006K0BP000   QJ    Inner Bushing                                               
CH25-B10.07    54004K0BP000   QJ    Rear Wheel Axle                                             
CH25-B10.08    54005K0BP000   QJ    Bushing                                                     
CH25-B10.10    54500K0BP000   QJ    Rear Wheel Hub Assy                                         
CH25-B10.11    54400K0BP000   QJ    Brake Lever                                                 
CH25-B10.12    54001K0BP000   QJ    Brake Spring                                                
CH25-B10.14    54003K0BP000   QJ    Camshaft Rear Brake                                         
CH25-B10.15    54007N0HP000   QJ    Rear Brake Lever                                            
CH25-B10.16    54200K0BP000   QJ    Rear Brake Shoe                                             
CH25-B10.17    B140108F15BB   QJ    130/90-15 Tire                                              
CH25-B10.18    B140208F15BB   QJ    130/90-15 Tube                                              
CH25-B10.19    B12016030300   QJ    Bearing                                                     
CH25-B10.21    B04171615064   QJ    M16 x 1.5 Nut                                               
CH25-B10.26    B190101320B0   QJ    O-Ring                                                      
CH25-B10.27    53230K0BP000   QJ    Chain Adjuster                                              
CH25-B10.28    53234K0BP000   QJ    Adjuster Fixing Plate                                       
CH25-B11.02    58220N0HP000   QJ    Front Left Footrest Assy                                    
CH25-B11.03    58240N0HP000   QJ    Front Right Footrest Assy                                   
CH25-B11.04    58260N0HP000   QJ    Rear Left Footrest Assy                                     
CH25-B11.05    58280N0HP000   QJ    Rear Right Footrest Assy                                    
CH25-B11.06    58700N0HP000   QJ    Side Stand Assy                                             
CH25-B11.28    58229N0HP000   QJ    Rubber Sleeve                                               
CH25-B11.29    58222N0HP000   QJ    Spring, Footrest                                            
CH25-B11.33    58221N0HP000   QJ    Foot Peg                                                    
CH25-B12.01    60101N0HP000   QJ    Chain Guard                                                 
CH25-B12.03    54024N0HP000   QJ    Rear Wheel Damper                                           
CH25-B12.04    60002N0HP000   QJ    Sprocket                                                    
CH25-B12.05    60015N0HP000   QJ    Bolt, Sprocket Bracket                                      
CH25-B12.09    60027K0BP000   QJ    Sprocket Bracket                                            
CH25-B12.11    B1501C1114B0   QJ    Drive Chain                                                 
CH25-B13.01    63000G0KP000   QJ    Rear Shock Absorber                                         
CH25-B14.01    65101G0KP000   QJ    Front Fender                                                
CH25-B14.02    65121G0KP000   QJ    Fender Bracket                                              
CH25-B14.03    B01090801664   QJ    M8 x 16 Bolt                                                
CH25-B14.05    B10280500800   QJ    Rivet                                                       
CH25-B14.06    B02000601224   QJ    M6 x 12 Screw                                               
CH25-B14.07    65102G0KP000   QJ    Front Fender Flap                                           
CH25-B14.08    08470G0KP000   QJ    Front Left Reflector Bracket                                
CH25-B14.09    08481G0KP000   QJ    Front Right Reflector Bracket                               
CH25-B14.10    08200G0KP000   QJ    License Plate Bracket                                       
CH25-B14.11    65103G0KP000   QJ    Flapper Plate                                               
CH25-B15.01    65601N0HP000   QJ    Frame Cover Left                                            
CH25-B15.02    65602N0HP000   QJ    Frame Cover Right                                           
CH25-B15.03    65616N0HP000   QJ    Cushion                                                     
CH25-B15.04    65618N0HP000   QJ    Cushion                                                     
CH25-B16.02    65720K0BP000   QJ    Inner Fender                                                
CH25-B16.03    65780G0KP000   QJ    Bracket - Left                                              
CH25-B16.04    65790G0KP000   QJ    Bracket - Right                                             
CH25-B16.05    86500J00P000   QJ    Rear Reflector                                              
CH25-B16.06    08250G0KP000   QJ    License Plate Bracket                                       
CH25-B16.07    51201G0KP000   QJ    Seat Bracket                                                
CH25-B16.09    B01091002064   QJ    Bolt                                                        
CH25-B17.01    80000N0HP000   QJ    Headlight Assy(use 25H-B17.31)                              
CH25-B17.02    81300N0HP000   QJ    Right Front Turn Signal                                     
CH25-B17.03    81100N0HP000   QJ    Left Front Turn Signal                                      
CH25-B17.04    81700N0HP000   QJ    Right Rear Turn Signal                                      
CH25-B17.05    81500N0HP000   QJ    Left Rear Turn Signal                                       
CH25-B17.06    82000N0HP000   QJ    Tail Light Assy                                             
CH25-B17.07    70000N0HP000   QJ    Speedometer Assy                                            
CH25-B17.08    72900N0HP000   QJ    Speedometer Cable                                           



CH25-B17.09    86100N0HP000   QJ    Front Left Reflector                                        
CH25-B17.10    86200N0HP000   QJ    Front Right Reflector                                       
CH25-B17.11    80006N0HP000   QJ    Headlight Reflector                                         
CH25-B18.01    96100N0HP000   QJ    Battery                                                     
CH25-B18.02    98801N04FN04   QJ    Regulator/Rectifier                                         
CH25-B18.03    964000N0HP000  QJ    Turn Signal Flasher                                         
CH25-B18.04    96700N0HP000   QJ    Kick Stand Relay                                            
CH25-B18.05    95000N0HP000   QJ    Horn                                                        
CH25-B18.06    88100N0HP000   QJ    Ignition Lock Assy                                          
CH25-B18.07    96200N0HP000   QJ    Ignition Coil Assy                                          
CH25-B18.08    97701N04FN04   QJ    CDI Unit                                                    
CH25-B18.09    91700N0HP000   QJ    Rear Brake Switch                                           
CH25-B18.10    96800N0HP000   QJ    Fuse Comp.                                                  
CH25-B18.11    QJ25H-B18.11   QJ    Steering Column Lock Assy                                   
CH25-B18.13    88700N0HP000   QJ    Helmet Lock Assy                                            
CH25-B18.14    92000N0HP000   QJ    Wiring Harness                                              
CH25-B18.23    65816N0HP000   QJ    Battery Case                                                
CH25-B18.24    96004N0HP000   QJ    Battery Case Band                                           
CH25-B18.25    02200N0HP000   QJ    Battery Case Band II                                        
CH25-B18.26    96900N0HP000   QJ    Ground Wire                                                 
CH25-B18.27    92900N0HP000   QJ    Ignition Wire                                               
CH25-B19       TOOL KIT       QJ    Tool Kit                                                    
CH25-E01.01    17701N04F000   QJ    Spring                                                      
CH25-E01.02    17515N04F000   QJ    Stopper Assembly                                            
CH25-E01.08    17703NOF000    QJ    Shaft                                                       
CH25-E01.09    17614N04F940   QJ    Fork III                                                    
CH25-E01.10    17616N04F940   QJ    Fork I                                                      
CH25-E01.11    17617N04F000   QJ    Shifting Fork Shaft                                         
CH25-E01.12    17145N04F000   QJ    Claw Assembly                                               
CH25-E01.13    17417N04F000   QJ    Gear II                                                     
CH25-E01.14    17418N04F000   QJ    Spring                                                      
CH25-E01.15    17442N04F920   QJ    Circlip                                                     
CH25-E01.16    17713N04F000   QJ    Claw                                                        
CH25-E01.17    17600N04F000   QJ    Cam Assembly                                                
CH25-E01.29    B08010001000   QJ    Circlip                                                     
CH25-E01.31    19117N04F000   QJ    Gear                                                        
CH25-E01.32    17615N04F940   QJ    Fork                                                        
CH25-E01.33    17621N04F000   QJ    Shifting Fork Shaft                                         
CH25-E02       QJ25H-E2       QJ    Countershaft Assembly                                       
CH25-E02.15    17340N04F000   QJ    Sprocket                                                    
CH25-E02.16    17344N04F000   QJ    Lock Washer                                                 
CH25-E03       NOT ASSIGNED   QJ    Clutch Assembly                                             
CH25-E04       NOT ASSIGNED   QJ    Axle Assembly                                               
CH25-E05.01    NOT ASSIGNED   QJ    Coil Pickup                                                 
CH25-E05.02    34301N04F000   QJ    Rotor Assembly                                              
CH25-E05.03    34310N04F000   QJ    Armature                                                    
CH25-E05.04    NOT ASSIGNED   QJ    Wire Assembly                                               
CH25-E05.05    34310N04F000   QJ    Armature Assembly                                           
CH25-E06.50    32800N04F000   QJ    Carburetor Assembly                                         
CH25-E07       NOT ASSIGNED   QJ    Oil Pump Assembly                                           
CH25-E08.01    32200N04F000   QJ    Intake Pipe Assembly                                        
CH25-E08.02    32209N04F000   QJ    O Ring                                                      
CH25-E08.07    32208N04F000   QJ    Vacuum Fitting                                              
CH25-E09.01    30201N04F000   QJ    Exhaust Valve                                               
CH25-E09.02    30106N04F000   QJ    Gasket, Valve Spring                                        
CH25-E09.03    30101N04F930   QJ    Valve Spring                                                
CH25-E09.04    30105N04F000   QJ    Retainer, Valve Spring                                      
CH25-E09.05    30108N04F000   QJ    Valve Keeper                                                
CH25-E09.06    30123N04F000   QJ    Rocker Arm, Valve                                           
CH25-E09.07    30121N04F000   QJ    Shaft, Valve Rocker                                         



CH25-E09.08    30303N04F930   QJ    Adjusting Bolt                                              
CH25-E09.09    30302N04F930   QJ    Adjusting Nut                                               
CH25-E09.10    30401N04F000   QJ    Camshaft - Intake                                           
CH25-E09.11    30424N04F000   QJ    Camshaft - Exhaust                                          
CH25-E09.12    30103N04F000   QJ    Intake Valve                                                
CH25-E09.13    30423N04F000   QJ    Camshaft Housing                                            
CH25-E09.14    30417N04F000   QJ    Camshaft Plate                                              
CH25-E09.15    B01050601263   QJ    M6 x 12 Screw                                               
CH25-E10.01    34200N04F000   QJ    Starting Motor Assembly                                     
CH25-E10.03    34140N04F000   QJ    Idler Gear                                                  
CH25-E10.05    B01070602564   QJ    M6 x 25 Screw                                               
CH25-E10.06    34150N04F000   QJ    Driven Gear Assy                                            
CH25-E10.07    34400N04F000   QJ    Clutch                                                      
CH25-E11.04    30503N04F000   QJ    Head Cover Gasket                                           
CH25-E11.05    30532N04F000   QJ    Exhaust Pipe Gasket                                         
CH25-E11.08    30240N04F000   QJ    Valve Seal                                                  
CH25-E11.09    30116N04F000   QJ    O-Ring                                                      
CH25-E11.10    3011RN04F000   QJ    Observe Cover                                               
CH25-E11.14    30111N04F000   QJ    Gasket                                                      
CH25-E11.17    30700N04F000   QJ    Head Cover                                                  
CH25-E11.18    30506N04F000   QJ    Spark Plug A7RTC or A7RC                                    
CH25-E11.20    30502N04F910   QJ    Mounting Stud                                               
CH25-E11.22    3052RN04F000   QJ    Pin, Dowel                                                  
CH25-E11.24    30730N04F000   QJ    Cylinder Head                                               
CH25-E11.27    30110N04F000   QJ    Intake Valve Seat                                           
CH25-E11.28    30206N04F000   QJ    Exhause Valve Seat                                          
CH25-E12A.01   27100N04F000   QJ    Cylinder Assy. A                                            
CH25-E12A.03   27102N04F000   QJ    Gasket - Cylinder A                                         
CH25-E12A.04   27109N04F000   QJ    Ring                                                        
CH25-E12A.1.10 27100N04F010   QJ    Cylinder Assy +10                                           
CH25-E12A.1.20 27100N04F020   QJ    Cylinder Assy +20                                           
CH25-E12A.1.30 27100N04F030   QJ    Cylinder Assy +30                                           
CH25-E12B.01   27112N04F000   QJ    Cylinder Assy "B"                                           
CH25-E12B.03   27102N04F000   QJ    Gasket - Cylinder "B"                                       
CH25-E12B.04   27109N04F000   QJ    Ring - Cylinder "B"                                         
CH25-E12B.1.10 27112N04F010   QJ    Cylinder Assy "B" +10                                       
CH25-E12B.1.20 27112N04F020   QJ    Cylinder Assy "B"  +20                                      
CH25-E12B.1.30 27112N04F030   QJ    Cylinder Assy "B" +30                                       
CH25-E13.04    15116N04F000   QJ    Key                                                         
CH25-E13.05    15207N04F000   QJ    Driving Gear                                                
CH25-E13.06    15117N04F000   QJ    Chain Plate                                                 
CH25-E13.08    15200N04F000   QJ    Crankshaft                                                  
CH25-E13.10.10 15105N04FF20   QJ    Piston Pin +10                                              
CH25-E13.10.20 15105N04FF20   QJ    Piston Pin +20                                              
CH25-E13.11    15106N04F930   QJ    Circlip                                                     
CH25-E13.14    15300N04F000   QJ    Complete Ring Set                                           
CH25-E13.9.10  15107N04FF10   QJ    Piston +10                                                  
CH25-E13.9.20  15107N04FF20   QJ    Piston +20                                                  
CH25-E14.02    26400N04F000   QJ    Vent Hose                                                   
CH25-E14.07    B12016620550   QJ    Bearing - Main                                              
CH25-E14.08    B12016610450   QJ    Bearing - Intermediate                                      
CH25-E14.12    26307N04F000   QJ    O-Ring                                                      
CH25-E14.13    26202N04F000   QJ    Drain Plug                                                  
CH25-E14.14    26300N04F000   QJ    Filter Element                                              
CH25-E15.05    26113N04F000   QJ    Clip                                                        
CH25-E15.07    26601N04F940   QJ    Clamp                                                       
CH25-E15.08    34800N04F000   QJ    Sensor - Neutral Switch                                     
CH25-E15.09    26603N04F940   QJ    Clamp                                                       
CH25-E15.10    26133N04F000   QJ    Oil Seal                                                    
CH25-E15.11    26143N04F000   QJ    Drain Plug                                                  



CH25-E15.12    26130N04F000   QJ    Oil Seal                                                    
CH25-E15.13    B12016630550   QJ    Bearing                                                     
CH25-E15.14    26129N04F000   QJ    Oil Seal                                                    
CH25-E15.15    B12016610350   QJ    Bearing                                                     
CH25-E15.19    26137N04F000   QJ    Bearing                                                     
CH25-E15.20    26142N04F000   QJ    Oil Seal                                                    
CH25-E15.21    B08000002800   QJ    Elastic Clip                                                
CH25-E15.22    B02000600823   QJ    M6 x 8 Screw                                                
CH25-E15.23    26144N04F000   QJ    Plug                                                        
CH25-E15.24    26145N04F000   QJ    Seal washer                                                 
CH25-E15.25    B02040608023   QJ    M6 x 80 Screw                                               
CH25-E15.26    B02040607023   QJ    M6 x 70 Screw                                               
CH25-E15.27    B02040604022   QJ    M6 x 40 Screw                                               
CH25-E15.28    B02040602523   QJ    M6 x 25 Screw                                               
CH25-E15.29    B02040606023   QJ    M6 x 63 Screw                                               
CH25-E15.30    B02040603022   QJ    M6 x 30 Screw                                               
CH25-E16.01    B02050609063   QJ    M6 x 90 Screw                                               
CH25-E16.02    B02050603563   QJ    M6 x 35 Screw                                               
CH25-E16.03    B02050602563   QJ    M6 x 25 Screw                                               
CH25-E16.04    14228N04F000   QJ    Bracket                                                     
CH25-E16.05    14240N04F000   QJ    Oil Window Assy.                                            
CH25-E16.06    14205N04FT10   QJ    Plug                                                        
CH25-E16.07    14208N04F000   QJ    O-Ring                                                      
CH25-E16.08    14102N04FU10   QJ    Sprocket Cover                                              
CH25-E16.09    B01070605064   QJ    M6 x 50 Screw                                               
CH25-E16.10    14105N04F000   QJ    Plug - Cover Magneto                                        
CH25-E16.11    14116N04F000   QJ    O-Ring                                                      
CH25-E16.12    14104N04F94    QJ    Plug                                                        
CH25-E16.13    14124N04F000   QJ    Plate                                                       
CH25-E16.14    14115N04F000   QJ    O-Ring                                                      
CH25-E16.16    14230N04F000   QJ    Gasket - Magneto Cover                                      
CH25-E16.17    B01070607064   QJ    M6 x 70 Bolt                                                
CH25-E16.19    14229N04F000   QJ    Gasket - Sprocket Cover                                     
CH25-E16.20    B08000002500   QJ    Circlip                                                     
CH25-E16.21    14221N04F000   QJ    Oil Seal                                                    
CH25-E16.22    B190106300C0   QJ    O-Ring                                                      
CH25-E16.24    26322N04F000   QJ    Strainer Cap                                                
CH25-E16.25    26308N04F000   QJ    Strainer                                                    
CH25-E16.26    B02040601223   QJ    M6 x 12 Screw                                               
CH25-E16.27    B070600005000  QJ    Washer                                                      
CH25-E16.28    B02040603023   QJ    M6 x 30 Screw                                               
CH25-E17.02    27302N04F000   QJ    O-Ring                                                      
CH25-E17.03    27305N03F000   QJ    Spring                                                      
CH25-E17.05    B02050601663   QJ    Bolt                                                        
CH25-E17.06    27304N04F000   QJ    Gasket                                                      
CH25-E17.11    27430N04F000   QJ    Guide Tensioner                                             
CH25-E17.12    2732N04F000    QJ    Chain                                                       
CH25-E17.13    30404N04F000   QJ    Camshaft Chain Sprocket                                     
CH25-E17.14    27304N04F000   QJ    Washer                                                      
CH25-E17.16    27440N04F000   QJ    Guide Silencer                                              
CH25-E17.19    NOT ASSIGNED   QJ    Rivet                                                       
CH25-E17.20    27460N04F000   QJ    Guide Chain Plate                                           
CH25-E17.21    15232N04F000   QJ    Sprocket, Crankshaft                                        
CH25-E17.22    15238N04F000   QJ    Sprocket, Crankshaft                                        
FB-M10X22      B02051002264   QJ    Bolt M10x22                                                 
FB-M10X40      GB5787-86-12   QJ    Bolt M10x40                                                 
FB-M5X14       B13140501403   QJ    Bolt M5 x 14                                                
FB-M6X12       GB5787-86      QJ    Bolt M6x12                                                  
FB-M6X16       GB5787-86-5    QJ    Bolt M6x16                                                  
FB-M6X20       GB5787-86-8    QJ    Bolt M6x20                                                  



FB-M6X25       GB5787-80      QJ    Bolt M6X25                                                  
FB-M6X30       GB5787-86-15   QJ    Bolt M6x30                                                  
FB-M6X65       GB5787-86      QJ    Bolt M6x65                                                  
FB-M8X12       B01070801664   QJ    Bolt M8X12                                                  
FB-M8X20       B01070802065   QJ    Bolt M8x20                                                  
FB-M8X30       GB5787-86      QJ    Bolt M8x30                                                  
FB-M8X38       08011B50T000   QJ    Bolt M8 x 38                                                
FB-M8X8        B01070600864   QJ    Bolt M6 x 8                                                 
FN-M5          B04240600064   QJ    Nut M5                                                      
FN-M6          GB6177-86-1    QJ    Nut M6                                                      
FS-2.9X16      B05002901605   QJ    Screw 2.9x16mm (Battery Case)                               
FS-4.0X12      B05074001205   QJ    Self Tapping Screw 4.0 x 12                                 
FS-4.2X13      B05004201603   QJ    Self Tapping Screw 4.0x14                                   
FS-4.8X13      B05004201305   QJ    Screw 4.8 x 13                                              
FS-5X12        B02000501264   QJ    Screw 5x12                                                  
FS-5X14        B02060501425   QJ    Screw M5 x 14                                               
FS-5X20        B02000502025   QJ    Screw M5x20                                                 
FS-6X20        B02000602064   QJ    Screw  6x20 (Chrome)                                        
FS-6X25        B02060602524   QJ    Screw M6 x 25                                               
FS-6X70        B02000607024   QJ    Screw M6 x 70                                               
FS-M5X10       B02000501064   QJ    Screw M5x10                                                 
FS-M5X16       B02000501664   QJ    Screw M5x16                                                 
FS-M5X25       B02000502565   QJ    Screw M5x25                                                 
FS-M6X12       B02060601224   QJ    Screw  M6x12 Big head                                       
FS-M6X16       B13060601664   QJ    Screw M6 x 16 w/washer (chrome)                             
FS-M8X35       B02020804023   QJ    Screw  M8x35                                                
FW-LM5         B07000000504   QJ    Lock Washer M5                                              
FW-M5          B07030000504   QJ    Washer M5                                                   
LS49-B01.01BLK 40001B20T000   QJ    Hand Grip - Left Black                                      
LS49-B01.02BLK 40200B20T000   QJ    Hand Grip - Right Black                                     
LS49-B01.03    40500B20T000   QJ    Left Control Switch                                         
LS49-B01.06    40080B20T000   QJ    Left Brake Lever (rear Brake)                               
LS49-B01.10    40600B20T000   QJ    Right Control Switch                                        
LS49-B01.10A   40600B20T004   QJ    Right Control Switch ( Reverse Thread )                     
LS49-B01.11    40100B20TG80   QJ    Handlebar                                                   
LS49-B01.12    40108B20TG80   QJ    Handle Cover Bracket                                        
LS49-B01.19    40300B20T000   QJ    Throttle Cable (45" length)                                 
LS49-B01.19A   40300B20T001   QJ    Throttle Cable - New Style (~2006+)                         
LS49-B01.21A   40460B20T007   QJ    Mirror SET, Black (reverse thread)                          
LS49-B01.21BLK 40460B20T004   QJ    Mirror Set (Left & Right), Black                            
LS49-B01.22A   40470B20T007   QJ    Right Mirror, Black                                         
LS49-B01.22BLK 40470B20T004   QJ    Right Mirror - Black                                        
LS49-B01.26    08526B20T000   QJ    Bracket for Front Turn Signal - Left                        
LS49-B01.27    08527B20T000   QJ    Bracket for Front Turn Signal - Right                       
LS49-B01.28    81300BM0T002   QJ    Left Front Turn Signal Assy (2004)                          
LS49-B01.29    81300BM0T002   QJ    Right Front Turn Signal Assy (2004)                         
LS49-B02.01    43001B20T000   QJ    Upper Bearing Top Race                                      
LS49-B02.02    43002B20T000   QJ    Upper Bearing Bottom Race                                   
LS49-B02.03    43003B20T000   QJ    Lower Bearing Top Race                                      
LS49-B02.04    43004B20T000   QJ    Lower Bearing Bottom Race                                   
LS49-B02.05    43007B20T000   QJ    Lock Washer                                                 
LS49-B02.06    43008J0ET000   QJ    Steering Stem Nut                                           
LS49-B02.07    43100B20T000   QJ    Front Fork Assy.                                            
LS49-B02.08    43202B20T000   QJ    Shock Absorber Spring                                       
LS49-B02.09    43211B20T000   QJ    Cushion Block                                               
LS49-B02.10    43230B20T000   QJ    Left Fork Internal Assy                                     
LS49-B02.11    43350B20T000   QJ    Right Fork Internal Assy                                    
LS49-B02.12    43120B20T000   QJ    Steering Stem w/ Fork Brace                                 
LS49-B02.21    43004B20T000   QJ    Steel Ball 4.763 (set of 21)                                
LS49-B02.22    B06010110000   QJ    Steel Ball 3.969 (set of 25)                                



LS49-B03.01    44005B20T000   QJ    Front Wheel Axle                                            
LS49-B03.02BLK 44200B20TB42   QJ    Speedometer Gear Drive - Black                              
LS49-B03.02BLU 44200B20TL70   QJ    Speedometer Gear Drive - Blue                               
LS49-B03.02RED 44200B20TR80   QJ    Speedometer Gear Drive - Red                                
LS49-B03.02YLW 44200B20T000   QJ    Speedometer Gear Drive - Yellow                             
LS49-B03.03    44300B20T000   QJ    Oil Seal                                                    
LS49-B03.04BLK 44102B20TB42   QJ    Front Wheel - Black                                         
LS49-B03.04BLU 44102B20T000   QJ    Front Wheel - Blue                                          
LS49-B03.04RED 44102B20TR80   QJ    Front Wheel - Red                                           
LS49-B03.04WHT 44102B20TR80W  QJ    Front Wheel - White                                         
LS49-B03.04YLW 44102B20T002   QJ    Front Wheel -  Gold                                         
LS49-B03.05    44004B20T000   QJ    Bushing Ring                                                
LS49-B03.06    44006B20TT10   QJ    Bearing Spacer                                              
LS49-B03.07    B12040100900   QJ    Roller Bearing                                              
LS49-B03.08    B140135010AA   QJ    Front and Rear Tire 3.5 x 10                                
LS49-B03.09    B04171012564   QJ    Nut M10 x 1.25                                              
LS49-B03.11    B14023501000   QJ    Tube for Front & Rear Tire                                  
LS49-B04.01    45000B20T000   QJ    Front Brake Assembly                                        
LS49-B04.02    45023B20T000   QJ    Right Brake Lever (Front Brake)                             
LS49-B04.03    45024B20T000   QJ    Brake Lever Mounting Bolt                                   
LS49-B04.04    B04000600065   QJ    Brake Lever Nut                                             
LS49-B04.05    15009B20T000   QJ    Front Brake Master Cylinder                                 
LS49-B04.06    45022B20T000   QJ    Mounting Seat Lever                                         
LS49-B04.08    45200B20T000   QJ    Brake Hose Assy                                             
LS49-B04.09    45001B20T000   QJ    Front Brake Caliper                                         
LS49-B04.10    45026B20T000   QJ    Bolt M8 x 14                                                
LS49-B04.11    45036B20T000   QJ    Bolt M8 x 20                                                
LS49-B04.12    45033B20T000   QJ    Brake Disc/Rotor                                            
LS49-B04.15    45110B20T000   QJ    Disc Brake Pads (set of 2)                                  
LS49-B04.17    15010B20T000   QJ    Master Cyl. Weather Strip                                   
LS49-B04.18    45300B20T000   QJ    Front Brake Switch                                          
LS49-B04.18A   91600B20T000   QJ    Front Brake Switch                                          
LS49-B06.01    47103B20T000   QJ    Muffler  ( up to 2005)                                      
LS49-B06.01BLU 47000B2GT007   QJ    Sport Muffler - Blue                                        
LS49-B06.01RED 47000B2GT007   QJ    Sport Muffler - Red                                         
LS49-B06.03    B13040601204   QJ    Screw M6 x 12                                               
LS49-B06.07    47039B20T000   QJ    Exhaust Pipe Bushing                                        
LS49-B06.08    47760B20T000   QJ    Heat Shield                                                 
LS49-B07.01    49500B20T000   QJ    Air Cleaner Assy.                                           
LS49-B07.03    49350B20T000   QJ    Clip                                                        
LS49-B07.04    49361B20T000   QJ    Plate                                                       
LS49-B07.06    B07000000504   QJ    Washer Spring 5mm                                           
LS49-B07.07    B07020000600   QJ    Washer 5mm                                                  
LS49-B07.10    49202B20T000   QJ    Air Filter Element                                          
LS49-B07.18    B0109061265    QJ    Screw 6 x 12mm                                              
LS49-B07.19    57051F20T000   QJ    Plate, One Way Valve                                        
LS49-B07.21    49851F20T000   QJ    Hose, 275 mm                                                
LS49-B07.22    49852F20T000   QJ    Hose, 145 mm                                                
LS49-B08.01    50201B0ET000   QJ    Fuel Tank Cap                                               
LS49-B08.01A   50200B2AT000   QJ    Fuel Tank Cap                                               
LS49-B08.02    50203B0ET000   QJ    Fuel Tank Cap, Plastic Cushion                              
LS49-B08.03    50202B0ET000   QJ    Fuel Tank Cap, Seal                                         
LS49-B08.06    50300B0ET000   QJ    Petcock                                                     
LS49-B08.06A   50400B20T000   QJ    Petcock Assy                                                
LS49-B08.15    50800B0ETT10   QJ    Fuel Level Sending Unit                                     
LS49-B08.15A   50800B20T000   QJ    Fuel Level Sending Unit                                     
LS49-B08.26    50100B0ETT10   QJ    Fuel Tank (Plastic)                                         
LS49-B08.26A   50910B0ET000   QJ    Fuel Tank Strap                                             
LS49-B08.26B   LS49-B08.26B   QJ    Fuel Tank, Metal                                            
LS49-B08.30    50301B20T000   QJ    Hose (Connecting Petcock with Fuel Tank)                    



LS49-B09.01    51004B20T000   QJ    Seat Compartment                                            
LS49-B09.02    51012B20T000   QJ    Gasket - Seat Compartment                                   
LS49-B09.03    51001B20T000   QJ    Seat Mounting Bolt 6x65mm                                   
LS49-B09.04    B07000000603   QJ    Spring Washer 6mm                                           
LS49-B09.05    B04000600053   QJ    Nut M6                                                      
LS49-B09.06    51005B20T000   QJ    Seat Hinge                                                  
LS49-B09.08A   B02010601663   QJ    Banana Style Seat  (2 person)                               
LS49-B09.08B   51100B20T004   QJ    Molded Seat (2 person)                                      
LS49-B09.08C   QJ    Original Seat (1 person)                                    
LS49-B09.13    65816B20T000   QJ    Battery Case                                                
LS49-B09.14    65813B20T000   QJ    Battery Case Lid                                            
LS49-B10.01    52011B20T000   QJ    Rear Luggage Rack                                           
LS49-B10.02    51014B20T000   QJ    Decorative Cover                                            
LS49-B10.03    51016B20T000   QJ    Special Screw - Rear Luggage Rack                           
LS49-B11.02BLK 54100B20TB42   QJ    Rear Wheel Rim - Black                                      
LS49-B11.02BLU 54100B20TL70   QJ    Rear Wheel - Blue                                           
LS49-B11.02RED 54100B20TR80   QJ    Rear Wheel - Red                                            
LS49-B11.02WHT 54100B20TR80W  QJ    Rear Wheel Rim - White                                      
LS49-B11.02YLW 54100B20T002   QJ    Rear Wheel - Gold                                           
LS49-B11.03    54200B00T000   QJ    Rear Brake Shoe (Set of 2)                                  
LS49-B11.04    54001B00T000   QJ    Brake Shoe Spring                                           
LS49-B11.05    54008B0ET000   QJ    Return Spring                                               
LS49-B11.06    54002B00P000   QJ    Wear Indicator                                              
LS49-B11.07    B04170600064   QJ    Nut M6                                                      
LS49-B11.08    54003B0ET000   QJ    Rear Brake Camshaft                                         
LS49-B11.09    B01010603064   QJ    Bolt M6 x 35                                                
LS49-B11.11    B04171415064   QJ    Nut M14 x 1.5                                               
LS49-B11.12    54007B0ET000   QJ    Rear Brake Camshaft Arm                                     
LS49-B12.04    58280B20T000   QJ    Left Rear Footrest                                          
LS49-B12.10    LS49-B12.10    QJ    Main Stand                                                  
LS49-B12.11    58502B20T000   QJ    Center Stand Return Spring                                  
LS49-B12.12    57003B20TT10   QJ    Side Stand Return Spring                                    
LS49-B12.13    57005J0ET000   QJ    Side Stand Bolt                                             
LS49-B12.14    58700B20TT10   QJ    Side Stand                                                  
LS49-B12.15    B01090601664   QJ    Bolt M6 x 16                                                
LS49-B12.17    57007B20T000   QJ    Helmet Hook                                                 
LS49-B12.18    58260B20T000   QJ    Right Rear Footrest                                         
LS49-B12.19    58300B20T000   QJ    Engine Mounting Bracket                                     
LS49-B12.20    58200B20TT10   QJ    Frame - Front Bracket                                       
LS49-B12.26    58342B20T000   QJ    Cushion                                                     
LS49-B13.01    63100B20T000   QJ    Shock Absorber                                              
LS49-B13.02    63007B20T000   QJ    Bushing                                                     
LS49-B13.03    63009B20T000   QJ    Gasket                                                      
LS49-B13.04    63002B20T000   QJ    Spring Guide                                                
LS49-B13.05    63001B20T000   QJ    Spring                                                      
LS49-B13.06    63004B20T000   QJ    Rubber Cushion                                              
LS49-B13.07    63011B20T000   QJ    Nut                                                         
LS49-B13.08    63170B20T000   QJ    Lower Bracket                                               
LS49-B13.09    B01070803064   QJ    Bolt M8 x 30                                                
LS49-B13.10    B01071004064   QJ    Bolt M10 x 40                                               
LS49-B14.01    64091B20T000   QJ    Oil Tank Cap                                                
LS49-B14.02    64002B20T000   QJ    Clip                                                        
LS49-B14.03    64100B20T000   QJ    Oil Level Sending Unit                                      
LS49-B14.04    64001B20T000   QJ    Oil Tank                                                    
LS49-B14.05    B16010800000   QJ    Oil Hose                                                    
LS49-B15.01BLU 65101B20TL70   QJ    Front Fender - Blue                                         
LS49-B15.01GRN 65101B20T000   QJ    Front Fender - Green                                        
LS49-B15.01RED 65101B20TR80   QJ    Front Fender - Red                                          
LS49-B15.01YLW 65101B20TY40   QJ    Front Fender - Yellow                                       
LS49-B15.02    B07020000604   QJ    Washer 6 x 18 Blk                                           



LS49-B15.03    B02000601624   QJ    Screw M6 x 16                                               
LS49-B15.04    65103B201000   QJ    Front Fender Trim - Left                                    
LS49-B15.05    B07020000600   QJ    Rubber Washer Gasket                                        
LS49-B15.06    65102B20T000   QJ    Front Fender Trim - Right                                   
LS49-B15.08    B07000000604   QJ    Spring Washer 6L                                            
LS49-B16.01BLU 65201B20TL70   QJ    Handlebar Cover Front - Blue                                
LS49-B16.01GRN 65201B20T000   QJ    Handlebar Cover Front - Green                               
LS49-B16.01RED 65201B20TR80   QJ    Handlebar Cover Front - Red                                 
LS49-B16.01YLW 65201B20T000   QJ    Handlebar Cover Front - Yellow                              
LS49-B16.02    B07020000505   QJ    Washer 5mm                                                  
LS49-B16.03    B02000501665   QJ    Screw M5 x 16                                               
LS49-B16.04    65202B20T000   QJ    Handlebar Cover Rear                                        
LS49-B17.01    65340B20T000   QJ    Front Storage Frame                                         
LS49-B17.02BLU 65301B20TL70   QJ    Front Storage Door - Blue                                   
LS49-B17.02GRN 65301B20T000   QJ    Front Storage Door - Green                                  
LS49-B17.02RED 65301B20TR80   QJ    Front Storage Door - Red                                    
LS49-B17.02YLW 65301B20TY40   QJ    Front Storage Door - Yellow                                 
LS49-B17.05    65390B20T000   QJ    Front Storage Box                                           
LS49-B17.09    65330B20T000   QJ    Fixing Seat                                                 
LS49-B17.10    65302B20T000   QJ    Front Cover                                                 
LS49-B18.01    65407B20T000   QJ    Belly Pan                                                   
LS49-B18.02    65401B20T000   QJ    Floorboard                                                  
LS49-B18.03    65411B20T000   QJ    Cover Plate for ATS                                         
LS49-B18.04    B13060601605   QJ    Screw w/Washer  M6x16                                       
LS49-B18.08    65406B20T000   QJ    Front Valance                                               
LS49-B18.09    B07020000505   QJ    Washer 5                                                    
LS49-B18.11    65404B20T000   QJ    Front Luggage Box                                           
LS49-B18.12    65402B20T000   QJ    Inner Leg Sheild                                            
LS49-B18.13    B01070601665   QJ    Screw M6 x 16                                               
LS49-B18.14    65403B20T000   QJ    VIN Cover                                                   
LS49-B19.01    65603B20T000   QJ    Front Right Cover                                           
LS49-B19.02    65601B20T000   QJ    Front Left Cover                                            
LS49-B19.03BLU 65604B20TL70   QJ    Rear LEFT Fender - Blue (Chrome LS plate)                   
LS49-B19.03RED 65604B20TR80   QJ    Rear LEFT Fender - Red (Chrome LS plate)                    
LS49-B19.03YLW 65604B20TY40   QJ    Rear LEFT Fender - Yellow (Chrome LS plate)                 
LS49-B19.04BLU 65602B20TL70   QJ    Rear RIGHT Fender - Blue (Chrome LS plate)                  
LS49-B19.04BLU3 QJ    Rear RIGHT Fender - Blue (Sticker decal)                    
LS49-B19.04GRN3 QJ    Rear RIGHT Fender - Green (Sticker decal)                   
LS49-B19.04RED 65602B20TR80   QJ    Rear Right Fender - Red (Chrome LS plate)                   
LS49-B19.04RED3 QJ    Rear RIGHT Fender - Red (Sticker decal)                     
LS49-B19.04YLW 65602B20TY40   QJ    Rear RIGHT Fender - Yellow (Chrome LS plate)                
LS49-B19.04YLW3 QJ    Rear RIGHT Fender - Yellow (Sticker decal)                  
LS49-B19.05BLUE 65606B20TL70   QJ    Gas Cap Cover - Blue                                        
LS49-B19.05GRN QJ    Gas Cap Cover- Green                                        
LS49-B19.05RED 65606B20TR80   QJ    Gas Cap Cover - Red                                         
LS49-B19.05YLW 65606B20TY40   QJ    Gas Cap Cover - Yellow                                      
LS49-B19.06    B05004201305   QJ    Self Tapping Screw 4.2 x 13                                 
LS49-B19.07    65615B20T000   QJ    Fuel Tank Fixing Board                                      
LS49-B19.08    B05074001005   QJ    Tapping Screw 4x10                                          
LS49-B19.10    65612B20T000   QJ    Handle                                                      
LS49-B19.12    65613B20T000   QJ    Bushing                                                     
LS49-B19.13    B07030000604   QJ    Washer 6                                                    
LS49-B193BLU3  QJ    Rear LEFT Fender - Blue (Sticker decal)                     
LS49-B193GRN3  QJ    Rear LEFT Fender - Green (Sticker decal)                    
LS49-B193RED3  QJ    Rear LEFT Fender - Red (Sticker decal)                      
LS49-B20.01    65701B20T000   QJ    Rear Fender                                                 
LS49-B20.04    65702B20T000   QJ    Mud Flap                                                    
LS49-B20.04A   65702B20T001   QJ    Mud Flap                                                    
LS49-B20.08    08202B20T001   QJ    License Plate Bracket                                       
LS49-B20.09    B04070600054   QJ    Nut M6                                                      



LS49-B21.01    70000B20T003   QJ    Speedometer Assy                                            
LS49-B21.02    75000B20T003   QJ    Front Panel Wiring Harness                                  
LS49-B21.03    72900B20T000   QJ    Speedometer Cable ( ~ thru 2005)see photo                   
LS49-B21.03A   QJ    Speedometer Cable ~2006+ (see photo)                        
LS49-B21.06    70003B20T000   QJ    Washer for Speedometer                                      
LS49-B21.08    70001B20T000   QJ    Speedometer Bulb 12V/3W                                     
LS49-B21.10    QJ    Lens for speedometer                                        
LS49-B22.01    96100B20T000   QJ    Battery                                                     
LS49-B22.02    96400B20T000   QJ    Flasher                                                     
LS49-B22.03    91900B20T000   QJ    Light Control Switch                                        
LS49-B22.06    96200B0DT000   QJ    Ignition Coil                                               
LS49-B22.08    B07000000604   QJ    Spring Washer M6                                            
LS49-B22.09    B07030000604   QJ    Washer M6                                                   
LS49-B22.10    92000B20T000   QJ    2002 Wiring Harness (w/o Alarm System)                      
LS49-B22.10A   92000B20T001   QJ    2003 Wiring Harness (w/ Alarm System)                       
LS49-B22.10B   QJ    2004 Wiring Harness (w/ Alarm System)                       
LS49-B22.10C   92000B20T003   QJ    2006 Wiring Harness (w/o Alarm System)                      
LS49-B22.11    88000B20T000   QJ    4 Lock Set                                                  
LS49-B22.12    88800B20T000   QJ    Seat Lock                                                   
LS49-B22.13    88100B20T000   QJ    Ignition Switch w/keys                                      
LS49-B22.13KEY 88900B03000X   QJ    Key Blank                                                   
LS49-B22.14    88400B20T000   QJ    Fuel Tank Lock                                              
LS49-B22.15    88200B20T000   QJ    Front Storage Lock                                          
LS49-B22.17    B01070601665   QJ    Screw M6 x 16                                               
LS49-B22.18    98801B0DT000   QJ    Regulator/Rectifier                                         
LS49-B22.19    97701B0DT000   QJ    CDI Unit                                                    
LS49-B22.20    96900B00T000   QJ    Ground Wire                                                 
LS49-B22.22    94000B20T000   QJ    Starter Relay                                               
LS49-B22.25    95000B20T001   QJ    Horn                                                        
LS49-B22.26    82000B20T000   QJ    Rear Turn Signal & Tail Light Assy                          
LS49-B22.27    81500B20T000   QJ    Rear Turn Signal Lens - LEFT                                
LS49-B22.28    81700B20T000   QJ    Rear Turn Signal Lens - RIGHT                               
LS49-B22.30    82900B20T000   QJ    Wiring Harness - Taillight                                  
LS49-B22.30A   92000B20T001   QJ    2003 LS Taillight Wiring Harness                            
LS49-B22.30B   92000B20T002   QJ    2004 LS Taillight Wiring Harness                            
LS49-B22.31    80000B20T000   QJ    Headlight Assy.                                             
LS49-B22.32    81100B20T002   QJ    Front Turn Signal Cover - Left BLK                          
LS49-B22.32A   81100B20T002   QJ    Lower Front Turn Signal Lens Left - Amber                   
LS49-B22.32B   81100B20T000   QJ    Lower Front Turn Signal Lens Left - Clear                   
LS49-B22.33    81300B20T002   QJ    Front Turn Signal Cover - Right BLK                         
LS49-B22.33A   81300B20T002   QJ    Lower Front Turn Signal Lens Right - Amber                  
LS49-B22.33B   81300B20T000   QJ    Lower Front Turn Signal Lens Right - Clear                  
LS49-B22.34    8002B20T000    QJ    Headlight Bulb, Incandescent, 12V/35W/35W, Ba20d Base       
LS49-B22.35    80020B20T000   QJ    Wiring Harness - Headlight                                  
LS49-B22.36    81103B20T000   QJ    Rear Turn Signal Bulb 12v/3w                                
LS49-B22.37    96800B20T000   QJ    Fuse for Alarm System                                       
LS49-B22.38    82007B20T000   QJ    Red Tail Light Cover                                        
LS49-B23.01    08350B50T000   QJ    Kick Starter Assy                                           
LS49-B23.02    B01020602565   QJ    Bolt M6 x 25                                                
LS49-B24.01    LS TOOL KIT    QJ    Tool Kit                                                    
LS49-B25.01    47100B20T006   QJ    Muffler Assembly (2006 +)                                   
LS49-B25.03    47121B20T000   QJ    Seal Washer                                                 
LS49-B25.05    47123B20T000   QJ    Muffler Fixing Plate                                        
LS49-B25.06    47039B20T000   QJ    Muffler Bushing                                             
LS49-B25.07    B01070803065   QJ    Bolt 8x30mm                                                 
LS49-B25.08    B01070802065   QJ    Bolt M8x20                                                  
LS49-B25.11    47041B20T000   QJ    Muffler Clamp                                               
LS49-B25.12    47042B20T000   QJ    Clamp Cushion                                               
LS49-B25.13    B01090804564   QJ    Bolt 8x40mm                                                 
LS49-CBOX-BLK  ?              QJ    Lil Sport Cargo Box - Black                                 



LS49-CBOX-BLU  55210B20T000   QJ    Lil Sport Cargo Box - Blue                                  
LS49-CBOX-RED  55210B20T000   QJ    Lil Sport Cargo Box - Red                                   
LS49-CBOX-YLW  55210B20T000   QJ    Lil Sport Cargo Box - Yellow                                
LS49-DECAL     05512B20T009   QJ    Name Plate for L'S 49 (2004 Model)                          
LS49-DECAL-2   05512B20T008   QJ    Name Plate for L'S 49 QT-2                                  
LS49-E02.01    26100B01F00B   QJ    Left Crankcase Assembly                                     
LS49-E04.01A   219101.006 QJ    Oil Pump Assy                                               
LS49-E06.01    LEADER CARB    QJ    Carburetor Assy.                                            
LS49-ENGINE    1010203.011 QJ    Lil Sport50cc Engine w/o Carb                               
PCLS-BLU       QJPC-0007      QJ    Paint Chip, LS49 - Blue                                     
PCLS-RED       QJPC-0005      QJ    Paint Chip, LS49 - Red                                      
PCLS-YLW       QJPC-0006      QJ    Paint Chip, LS49 - Yellow                                   
PCVN-BLK       QJPC-0002      QJ    Paint Chip, VN49 - Black                                    
PCVN-BLU       QJPC-0003      QJ    Paint Chip, VN49 - Blue                                     
PCVN-GRN       QJPC-0004      QJ    Paint Chip, VN49 - Green                                    
PCVN-RSP       QJPC-0001      QJ    Paint Chip, VN49 - Rasp                                     
QJ25H-10.2     34146N04F000   QJ    Starter Gear Shaft                                          
QJ25H-E1.30    17622N04F000   QJ    Washer                                                      
QJ50L-B1.06    B05004801303   QJ    Screw                                                       
QJ50L-B1.11    B04001012563   QJ    Nut M10x1.25                                                
QJ50L-B1.12    B01071004523   QJ    Bolt M10x1.25x35                                            
QJ50L-B11.06   B07010000600   QJ    Washer 6                                                    
QJ50L-B11.10   B0700000600    QJ    Spring Washer 6                                             
QJ50L-B11.14   54015B20T000   QJ    O-Ring Seal                                                 
QJ50L-B12.02   B04070610053   QJ    Nut                                                         
QJ50L-B12.10   57004B20TT10   QJ    Stand Return Spring 2                                       
QJ50L-B12.11   B02051001663   QJ    Screw M8x20                                                 
QJ50L-B16.04   B05004201305   QJ    Tapping Screw                                               
QJ50L-B16.09   B07020000500   QJ    Washer 5                                                    
QJ50L-B17.06   B07020000600   QJ    Washer 6x18                                                 
QJ50L-B17.07   B05004801305   QJ    Screw 4x16 self tapping                                     
QJ50L-B17.08   B01010601623   QJ    Bolt M6x16                                                  
QJ50L-B17.11   B04070600062   QJ    Nut M6                                                      
QJ50L-B18.05   B07020000600   QJ    Washer 6                                                    
QJ50L-B18.06   B05004201303   QJ    Screw 4x14 self tapping                                     
QJ50L-B18.07   B01070601652   QJ    Bolt M6x16                                                  
QJ50L-B19.12   B05064201603   QJ    Tapping Screw                                               
QJ50L-B19.15   B02000602564   QJ    Bolt M6x25 bl.                                              
QJ50L-B19.16   B05064201303   QJ    Tapping Screw                                               
QJ50L-B20.05   B01070601562   QJ    Bolt M6x16                                                  
QJ50L-B4.11    45003B20T000   QJ    Dust Cover                                                  
QJ50L-B4.13    B01070602325   QJ    Bolt M6x20                                                  
QJ50L-B6.12    47132B20T000   QJ    Block Stopper                                               
QJ50L-B8.01    50201B0ET000   QJ    Fuel Tank Cap                                               
QJ50L-B8.06    B02000502063   QJ    Screw M5x10                                                 
SS49-B01.01    40100BMBT001   QJ    Handlebar                                                   
SS49-B01.03    B04171012565   QJ    U Nut 10 x 1.25mm                                           
SS49-B01.04    40001J4AT001   QJ    Left Grip                                                   
SS49-B01.05    40210J4AT001   QJ    Right Grip Assy.                                            
SS49-B01.08    40300BM0T001   QJ    Throttle Cable Assy                                         
SS49-B01.09    40008BM0T000   QJ    Rear Brake Cable Jacket                                     
SS49-B01.11    40270BMBT000   QJ    Brake Cable Assy                                            
SS49-B01.13    65701BMBT000   QJ    Rear Fender                                                 
SS49-B02.01    40500BM0T000   QJ    Left Control Switch                                         
SS49-B02.02    40002BM0T000   QJ    Left Brake Lever (145mm)                                    
SS49-B02.06    40600BM0T001   QJ    Right Control Switch                                        
SS49-B03.01    43300BMBT000   QJ    Front Right Fork                                            
SS49-B03.02    43200BMBT000   QJ    Front Left Fork                                             
SS49-B03.19    43005BMBT001   QJ    Ball Race Cover                                             
SS49-B03.20    43001BMBT001   QJ    Ball Race Connecting                                        



SS49-B03.21    B06010150000   QJ    Steel Ball 5 (Set of 42)                                    
SS49-B03.22    43003BMBT000   QJ    Ball Race 2                                                 
SS49-B03.23    43004BMBT000   QJ    Ball Race 4                                                 
SS49-B03.24    43100BM0T001   QJ    Steering Column                                             
SS49-B04.01    44100BM0TBHA   QJ    Front Wheel Rim 3.5 x 12" (DOT)                             
SS49-B04.02    44600BM0T910   QJ    Collar                                                      
SS49-B04.03    44300BM0T000   QJ    Oil Seal 22x35x7 R                                          
SS49-B04.04    B12016020100   QJ    Ball Bearing 6201-2RS                                       
SS49-B04.05    B140107D12AB   QJ    Front Tire 120/70-12 (DOT)                                  
SS49-B04.07    B04171212563   QJ    Nut 12x1.25mm                                               
SS49-B04.08    44004G4CT000   QJ    Front Wheel Axle                                            
SS49-B04.09    44005BM0T000   QJ    Collar                                                      
SS49-B04.10    44200BM0T000   QJ    Speedometer Pickup                                          
SS49-B05.01    QJ    Front Brake Assy                                            
SS49-B05.02    45014BMBT000   QJ    Front Brake Lever                                           
SS49-B05.03    45015J1CT000   QJ    Lever Mounting Screw                                        
SS49-B05.05    45400BMBTB30   QJ    Master Brake Cylinder                                       
SS49-B05.06    45023J1DT000   QJ    Master Brake Cylinder Bracket                               
SS49-B05.09    45500J4FTB30   QJ    Front Brake Caliper                                         
SS49-B05.10    45110J4FT000   QJ    Front Brake Pad Kit                                         
SS49-B05.11    91700J3AT000   QJ    Front Brake Switch                                          
SS49-B05.12    45033BMBTB30   QJ    Front Brake Rotor                                           
SS49-B05.13    45036BMAT000   QJ    Bolt                                                        
SS49-B05.18    45036BMAT000   QJ    Disc Brake Bolt                                             
SS49-B06.01    47100BMBT00G   QJ    Muffler Assy (w/Catalyst)                                   
SS49-B06.03    47121B20T000   QJ    Seal Washer                                                 
SS49-B06.05    47123BMBT000   QJ    Muffler Fixing Plate                                        
SS49-B06.06    47740B0ET000   QJ    Muffler Bushing                                             
SS49-B06.07    B01090803565   QJ    Bolt 8x35mm                                                 
SS49-B06.08    B01090802065   QJ    Bolt M8x20                                                  
SS49-B06.09    47800B0DT000   QJ    Exhaust Pipe Gasket                                         
SS49-B06.17    49853BMBT001   QJ    Hose II 185mm                                               
SS49-B06.18    49852BMBT001   QJ    Hose I 250mm                                                
SS49-B06.19    49851BMBT001   QJ    Hose 210mm                                                  
SS49-B07.04    49200BMBT003   QJ    Filter Element                                              
SS49-B07.13    49000BMBT001   QJ    Air Cleaner Assy                                            
SS49-B07.14    49371B0DT000   QJ    Brake Cable Guide                                           
SS49-B07.17    49853BMBT001   QJ    Hose 2  (185mm)                                             
SS49-B07.18    49852BMBT001   QJ    Hose 1  (250mm)                                             
SS49-B07.19    49851BMBT001   QJ    Hose  (210mm)                                               
SS49-B08.01    50100BMBT001   QJ    Fuel Tank                                                   
SS49-B08.03    50300BM0T000   QJ    Fuel Petcock Assy                                           
SS49-B08.04    50301BM0T000   QJ    Fuel Hose 1  (4.5x5x80) SAE 30 R9                           
SS49-B08.05    50316BMBT000   QJ    Spring                                                      
SS49-B08.07    50302BM0T000   QJ    Vacuum Hose 1  (4x8x360)                                    
SS49-B08.09    50303BM0T000   QJ    Fuel Hose 2  (4.5x8.5x250)  SAE 30 R9                       
SS49-B08.11    50800BMBT000   QJ    Fuel Sending Unit                                           
SS49-B08.13    50004BMBT000   QJ    Fuel Sending Unit Gasket                                    
SS49-B09.01    51100BMBT002   QJ    Seat Assy                                                   
SS49-B09.02    51080BMBT000   QJ    Seat Hinge                                                  
SS49-B09.03    51001BMBT000   QJ    Pin, Seat Hinge                                             
SS49-B09.05    51004BMBT001   QJ    Storage Compartment                                         
SS49-B09.07BLK 52011BMBTB10   QJ    Rear Spoiler                                                
SS49-B09.07YEL 52011BMBTY50   QJ    Rear Spoiler                                                
SS49-B09.11    08032BM0T000   QJ    O-Ring 84.4x3.1mm                                           
SS49-B10.01    54100BM0TBHA   QJ    Rear Wheel Rim  3.5 x 12" (DOT)                             
SS49-B10.02    B140108D12BB   QJ    Rear Tire 130/70-12   (DOT)                                 
SS49-B10.04    QJ    Rear Brake Shoes                                            
SS49-B10.04    54200BMBT000   QJ    Rear Brake Shoes                                            
SS49-B10.05    54001BMBT000   QJ    Spring                                                      



SS49-B10.07    54250BM0T000   QJ    Camshaft Lever                                              
SS49-B10.08    54002BM0T000   QJ    Indicator Plate                                             
SS49-B10.09    54008BMBT000   QJ    Tension Spring                                              
SS49-B10.12    110201005 QJ    Inner Rear Fender                                           
SS49-B10.14    65770BM0T000   QJ    Rear Fender Bracket, Right                                  
SS49-B10.15    65709BM0T000   QJ    Bushing, Rear Fender                                        
SS49-B10.19    B190101000A0   QJ    O-Ring 10x1.9mm                                             
SS49-B11.02    58303BM0T000   QJ    Engine Mounting Bolt 1                                      
SS49-B11.04    58301BMBT000   QJ    Engine Mounting Bolt 2                                      
SS49-B11.09    58800BM0T000   QJ    Seat Catch                                                  
SS49-B11.15    58900BMBT000   QJ    Seat Cable                                                  
SS49-B11.16    58507BM0T000   QJ    Cushion Mid Stand                                           
SS49-B11.17    58360BMBT000   QJ    Engine Mounting Bracket                                     
SS49-B11.18    58520BM0T000   QJ    Main Stand                                                  
SS49-B11.19    58590BM0T000   QJ    Pin                                                         
SS49-B11.20    58508B0DT000   QJ    Rubber Washer 10mm                                          
SS49-B11.22    58510BM0T000   QJ    Main Stand Spring                                           
SS49-B11.24    58700BM0T000   QJ    Side Stand                                                  
SS49-B11.25    57005B0DT000   QJ    Bolt, Side Stand                                            
SS49-B11.26    57010BM0T001   QJ    Spring, Side Stand                                          
SS49-B12.01    63100BM0T005   QJ    Rear Shock Absorber                                         
SS49-B13.01    64001BMAT000   QJ    Oil Tank                                                    
SS49-B13.02    64090BMAT000   QJ    Oil Tank Cap                                                
SS49-B13.04    64100BMAT000   QJ    Oil Level Sensor                                            
SS49-B14.01BLK 65101BMBTB10   QJ    Front Fender, Black                                         
SS49-B14.01YLW 65101BMBTY50   QJ    Front Fender, Yellow                                        
SS49-B14.04    65120BMBT000   QJ    Front Fender Bracket 1                                      
SS49-B14.05    65110BMBT000   QJ    Front Fender Bracket 2                                      
SS49-B14.06    65114BMBT000   QJ    Screw w/Washer 6x16mm                                       
SS49-B15.01BLK 65201BMBTB10   QJ    Handlebar Cover, Upper, Black                               
SS49-B15.01YLW 65201BMBTY50   QJ    Handlebar Cover, Upper, Yellow                              
SS49-B15.02    65202BMBT000   QJ    Handlebar Cover, Lower, Black                               
SS49-B15.03    65203BMBT000   QJ    Meter Cover                                                 
SS49-B15.04    B05075001605   QJ    Screw 5x16mm                                                
SS49-B15.05    B05075001205   QJ    Screw 5x12mm                                                
SS49-B15.06    B05074001205   QJ    Screw 4x12mm                                                
SS49-B15.07    B05074001605   QJ    Screw 4x16mm                                                
SS49-B15.08    B05073001005   QJ    Screw 3x10mm                                                
SS49-B15.09    B13010501405   QJ    Screw 5x14mm                                                
SS49-B15.10    40470BMBT000   QJ    Mirror Right, Black                                         
SS49-B15.11    40460BMBT003   QJ    Mirror, Left, Black                                         
SS49-B16.01BLK 65301BMBTB1A   QJ    Front Cover, Black                                          
SS49-B16.01YLW 65301BMBTY5A   QJ    Front Cover, Yellow                                         
SS49-B16.02    65314BMBT000   QJ    Screw                                                       
SS49-B16.03    08027J4AT000   QJ    Plastic Washer                                              
SS49-B16.04    B05074201605   QJ    ST 4.2x16                                                   
SS49-B16.05    65367BMBT000   QJ    Cover, Right                                                
SS49-B16.06    65366BMBT000   QJ    Cover, Left                                                 
SS49-B16.07    B05074001205   QJ    ST 4.2x12                                                   
SS49-B16.08    65801BMAT000   QJ    Spring Nut ST4                                              
SS49-B17.01    65402BMBT000   QJ    Front Inside Body Panel                                     
SS49-B17.02    65403BMBT000   QJ    VIN Cover                                                   
SS49-B17.08    65407BMKT001   QJ    Front Inner Fender Cover                                    
SS49-B17.10BLK 65406BMBTB10   QJ    Belly Pan, Black                                            
SS49-B17.10YLW 65406BMBTY50   QJ    Belly Pan, Yellow                                           
SS49-B17.11    65813BMBT000   QJ    Floorboard Compartment Cover                                
SS49-B17.12    65401BMBT000   QJ    Floorboard, Black                                           
SS49-B18.01BLK 65601BMBTB10   QJ    Side Panel Left, Black                                      
SS49-B18.01YLW 65601BMBTY50   QJ    Side Panel Left, Yellow                                     
SS49-B18.02BLK 65602BMBTB10   QJ    Side Panel Right, Black                                     



SS49-B18.02YLW 65602BMBTY50   QJ    Side Panel Right, Yellow                                    
SS49-B18.03    65605BMBT001   QJ    Center Panel                                                
SS49-B18.04    65619BMBT000   QJ    Compartment Lid, Center Panel                               
SS49-B18.05BLK 65606BMBTB10   QJ    Fuel Fill Panel. Black                                      
SS49-B18.05YLW 65606BMBTY50   QJ    Fuel Fill Panel, Yellow                                     
SS49-B18.10    65608BMBT000   QJ    Decoration Cap                                              
SS49-B19.01    70000BMBT00S   QJ    Speedometer/Instrument Assy.                                
SS49-B19.03    72900BMBT000   QJ    Speedometer Cable                                           
SS49-B19.07    70003BMBT001   QJ    Speedometer Cover (lens)                                    
SS49-B19.08    76000BMBT002   QJ    Digital Clock                                               
SS49-B19.09    75000BMBT004   QJ    Speedometer Wire Harness                                    
SS49-B19.10    88900BM0T001   QJ    Key Blank Left (set of 2)                                   
SS49-B19.11    88900BMBT001   QJ    Key Blank Right (set of 2)                                  
SS49-B19.12    76001BMBT000   QJ    Clock Battery                                               
SS49-B20.04    80000J4AT000   QJ    Headlight Assy w/Halogen Bulb                               
SS49-B20.08    81302B20T000   QJ    Turn Signal Lens, Front Right/Rear Left                     
SS49-B20.09    81102B20T000   QJ    Turn Signal Lens, Front Left/Rear Right                     
SS49-B21.01    81700BMBT001   QJ    Turn Signal, Rear Right                                     
SS49-B21.02    81500BMBT001   QJ    Turn Signal, Rear Left                                      
SS49-B21.12    82000BM0T001   QJ    Taillight Assy                                              
SS49-B21.16    82008BM0T001   QJ    Taillight Lens                                              
SS49-B21.20    08202BM0T000   QJ    Mud Flap                                                    
SS49-B21.28    09203BMBT000   QJ    License Bracket                                             
SS49-B22.01    95000BMDT000   QJ    Horn                                                        
SS49-B22.02    92000BMBT007   QJ    Main Wire  Harness                                          
SS49-B22.02A   92000B92000N   QJ    Wire Harness                                                
SS49-B22.04    94000BMBT000   QJ    Starter Relay                                               
SS49-B22.05    96900BMBT000   QJ    Ground Wire                                                 
SS49-B22.06    88101BM0T001   QJ    Cover, Ignition Switch                                      
SS49-B22.07    88100BMBT000   QJ    Ignition Switch Assy                                        
SS49-B22.08    88400BM0T000   QJ    Gas Cap                                                     
SS49-B22.29    96200BMAT000   QJ    Ignition Coil                                               
SS49-B22.30    88000BMBT000   QJ    3-Lock Assy                                                 
SS49-B22.32    96500BM0T001   QJ    Flasher                                                     
SS49-B22.33    97701BM0T000   QJ    CDI                                                         
SS49-B24.01    08351BM0TC10   QJ    Kick Starter, Silver                                        
SS49-CBOX-BLK  52200BMBTB10   QJ    Black Cargo Box (Rack sold separately)                      
SS49-CBOX-YLW  52200BMBTY50   QJ    Cargo Box - Yellow (Rack sold separately)                   
SS49-E04.01    219101.008 QJ    Oil Pump Assy                                               
SS49-E10.01    17800G16F000   QJ    Idler Gear Assy                                             
SS49-E10.02    B12016620000   QJ    Bearing 6200                                                
SS49-E10.04    17300G16F000   QJ    Output Shaft Assy                                           
SS49-E10.05    17317B09F00    QJ    Oil Seal                                                    
SS49-E10.07    B12016620200   QJ    Radial Ball Bearing                                         
SS49-E10.07    B12016620200   QJ    Radial Ball Bearing                                         
SS49-E10.07    B12016620200   QJ    Radial Ball Bearing                                         
SS49-E10.07    B12016620200   QJ    Radial Ball Bearing                                         
SS49-ENGINE    1010208.015 QJ    Super Sport 49cc Engine w/Carb                              
SS49-RR-RACK   52011BMKTB10   QJ    Rear Carrier Rack - Black (Used to mount Cargo Box)         
VN49-03TOP-END QJ    Top End Kit for 03 Venice Engine                            
VN49-B01.01BLK 65101B50TB51   QJ    Front Fender Front - Black                                  
VN49-B01.01BLU 65101B50TLT1   QJ    Front Fender Front - Blue                                   
VN49-B01.01BURG 65101B50TRR1   QJ    Front Fender Front - Burgundy                               
VN49-B01.01GRN 65101B50TGB1   QJ    Front Fender Front - Green                                  
VN49-B01.01PNK 65101B50TTV    QJ    Front Fender Front                                          
VN49-B01.01RASP 65101B50TRY1   QJ    Front Fender Front - Raspberry                              
VN49-B01.02BLK 65106B50TB50   QJ    Front Fender Rear -  Black                                  
VN49-B01.02BLU 65106B50TLT0   QJ    Front Fender Rear - Blue                                    
VN49-B01.02BURG 65106B50TRR0   QJ    Front Fender Rear - Burgundy                                
VN49-B01.02GRN 65106B50TGB0   QJ    Front Fender Rear - Green                                   



VN49-B01.02PNK 65106B50TTV    QJ    Front Fender Rear                                           
VN49-B01.02RASP 65106B50TRY0   QJ    Front Fender Rear - Raspberry                               
VN49-B01.03    65801J0ET000   QJ    Body Clip/Fastener                                          
VN49-B01.04    B01090601664   QJ    Bolt M6 x 16 Chrome                                         
VN49-B01.07    B04070600064   QJ    Nut M6                                                      
VN49-B02.01    43100B50T000   QJ    Front Fork Assy.                                            
VN49-B02.02    43200B50T000   QJ    Front Shock Absorber                                        
VN49-B02.03    43910B50T000   QJ    Seal Assy.                                                  
VN49-B02.04    43017J0ET000   QJ    Steering Stem "jam" Nut                                     
VN49-B02.05    43001B50T000   QJ    Upper Bearing Top Race                                      
VN49-B02.06    43002B50T000   QJ    Upper Bearing Bottom Race                                   
VN49-B02.07    43003B50T000   QJ    Lower Bearing Top Race                                      
VN49-B02.08    43131B50T000   QJ    Lower Bearing (ring w/ball bearings)                        
VN49-B02.09    43004B50T000   QJ    Lower Bearing Bottom Race                                   
VN49-B02.11    43950B50T000   QJ    Left Front Fork Lever                                       
VN49-B02.12    43012B50T000   QJ    Decoration Plate                                            
VN49-B02.13    43900B50T000   QJ    Right Front Fork Lever                                      
VN49-B02.14    08012B50T000   QJ    Shoulder Bolt M8                                            
VN49-B02.15    43902B50T000   QJ    Bushing                                                     
VN49-B02.16    08013B50T000   QJ    Bolt M8 x 32                                                
VN49-B02.17    43904B50T000   QJ    Rubber Washer                                               
VN49-B02.18    B06010110000   QJ    Steel Ball 3.969 (set of 25)                                
VN49-B02.19    B04070800055   QJ    M8 Nut                                                      
VN49-B02.20    B01090601664   QJ    Bolt M6 x 16                                                
VN49-B02.21    43901B50T000   QJ    Bushing                                                     
VN49-B03.01    80004B50T002   QJ    Headlight Cover without holes                               
VN49-B03.01A   80004B50T002   QJ    Headlight Cover w/holes 2002 BURG                           
VN49-B03.01CH  80004B50T003   QJ    Headlight Cover - Chromed                                   
VN49-B03.02    65301B50T000   QJ    Front Cover - Burgundy                                      
VN49-B03.02CH  65301B50T002   QJ    Venice Front Cover - Chromed                                
VN49-B03.02PNK 65301B130TV    QJ    Front Cover                                                 
VN49-B03.03BLK 65302B50TB50   QJ    Leg Shield - Black                                          
VN49-B03.03BLU 65302B50TLT0   QJ    Leg Shield - Blue                                           
VN49-B03.03BURG 65302B50TRR0   QJ    Leg Shield - Burgundy                                       
VN49-B03.03GRN 65302B50TGB0   QJ    Leg Shield - Green                                          
VN49-B03.03PNK 65302B50TTV    QJ    Leg Shield                                                  
VN49-B03.03RASP 65302B50TRY0   QJ    Leg Shield - Raspberry                                      
VN49-B03.04BLK 65403B50T000   QJ    VIN Cover - Black                                           
VN49-B03.04BLU 65403B50TLT0   QJ    VIN Cover - Blue                                            
VN49-B03.04BURG 65403B50TRR0   QJ    VIN Cover - Burgundy                                        
VN49-B03.04GRN 65403B50TGB0   QJ    VIN Cover - Green                                           
VN49-B03.04PNK 65403B50TTV    QJ    VIN Cover                                                   
VN49-B03.04RASP 65403B50TRY0   QJ    VIN Cover - Raspberry                                       
VN49-B03.05    81101B50T000   QJ    Decorative Turn Signal Cover - LEFT                         
VN49-B03.07    08001B50T000   QJ    Screw M6 x 20                                               
VN49-B03.08    B05004801205   QJ    Self-tapping Screw 4.8 x 12                                 
VN49-B03.09    03310B50T000   QJ    Helmet Hook                                                 
VN49-B03.10    81301B50T000   QJ    Decorative Turn Signal Cover - RIGHT                        
VN49-B03.12    B05075001205   QJ    Screw 4.8 x 12 Self Tapping                                 
VN49-B03.13    65303B50T000   QJ    Turn Signal Cap - Left (Burg)                               
VN49-B03.14    65309B50T000   QJ    Turn Signal Cap - Right (Burg)                              
VN49-B04.01    72000B50T000   QJ    Speedometer Assy.                                           
VN49-B04.01BULB 70036B50T000   QJ    Dash/Indicator/Speedometer Bulb 12V/3W                      
VN49-B04.02    95000B50T000   QJ    Horn                                                        
VN49-B04.03    88100B50T000   QJ    Ignition Lock Assy (5 wires)                                
VN49-B04.03KEYA QJ50-B4.3BLANKA QJ    Key Blank - A (Left Step) set of 2                          
VN49-B04.03KEYB QJ50-B4.3BLANKB QJ    Key Blank - B (Right Step) set of 2                         
VN49-B04.03RING NEED#          QJ    Ignition Decorative Cover                                   
VN49-B04.04    77000B50T000   QJ    Indicator Unit (Gas, Oil, Turn Signal, Hi-Beam)             
VN49-B04.05    98801B50T000   QJ    Regulator/Rectifier (Plug-in/no wires)                      



VN49-B04.06    88800B50T000   QJ    Seat Lock                                                   
VN49-B04.07    VN49-B04.07    QJ    Headlight Assy.                                             
VN49-B04.08    VN49-B04.08    QJ    Taillight Assembly                                          
VN49-B04.09    781110 QJ    Battery                                                     
VN49-B04.09    781110 QJ    Battery                                                     
VN49-B04.10    94000B50T000   QJ    Starter Solenoid / Relay Assy                               
VN49-B04.11    96200B50T000   QJ    Ignition Coil                                               
VN49-B04.12    96400B50T000   QJ    Flasher                                                     
VN49-B04.13    92000B50T000   QJ    Wire Harness Assy w/o Alarm                                 
VN49-B04.13A   92000B50T003   QJ    Wiring Harness Assy w/Alarm                                 
VN49-B04.14    B02000601624   QJ    Oil Gauge                                                   
VN49-B04.15A   81100B50T001   QJ    Front Signal - Left (Post Style early 03 models)            
VN49-B04.15B   81100B50T000 LH QJ    Front Turn Signal - Left (Handlebar)  Amber Lens DOT        
VN49-B04.15C   VN49-B04.15C   QJ    Front Turn Signal (Handlebar) Clear Lens/Amber Bulb DOT     
VN49-B04.16A   81300B50T001   QJ    Front Turn Signal - Right (Post) DOT                        
VN49-B04.16B   81100B50T000   QJ    Front Turn Signal - Right (Handlebar) Amber Lens DOT        
VN49-B04.16C   VN49-B04.16C   QJ    Turn Signal Right(Handlebar) Clear Lens/Amber Bulb  DOT     
VN49-B04.17    72900B50T000   QJ    Speedometer Cable (40" length)                              
VN49-B04.21    94008B50T000   QJ    Starter Relay Cover                                         
VN49-B04.25    96401B50T000   QJ    Flasher Cover                                               
VN49-B04.26    VN49-B04.26    QJ    Rear Turn Signal - Left                                     
VN49-B04.27    VN49-B04.27    QJ    Rear Turn Signal - Right                                    
VN49-B04.29    81004B50T000   QJ    Turn Signal Bulb 12v/10w                                    
VN49-B04.32    97701B50T000   QJ    CDI Unit                                                    
VN49-B04.38    80002B50T000   QJ    Headlight Bulb, Halogen, 12V/35W/35W, P15d-25-1 Base        
VN49-B04.39    82005B50T000   QJ    Taillight Bulb 12v/21W/5W                                   
VN49-B04.40    96300B50T000   QJ    Battery Charger w/pigtails                                  
VN49-B04.40A   QJ50QT5002     QJ    Charger Pigtails                                            
VN49-B04.41    96900B50T000   QJ    Ground Wire                                                 
VN49-B04.43    (SEE REMARK)   QJ    *Remote Alarm System w/ Horn                                
VN49-B04.44    97600B20T000   QJ    Horn for Alarming System                                    
VN49-B04.45    88000B50T000   QJ    Lock Set of 3                                               
VN49-B04.46    81107BM0T000   QJ    Turn Signal Bulb Cover, Amber                               
VN49-B04.51    70002B50T000   QJ    Indicator Bulb 12V/2W                                       
VN49-B04.52    81700BM0T002   QJ    Turn Signal Lens, Left, Clear                               
VN49-B04.53    81500BM0T002   QJ    Turn Signal Lens, Right, Clear                              
VN49-B05.03    57760B50T000   QJ    Rear Carrier Bracket                                        
VN49-B05.04    58520B0DT000   QJ    Main Stand                                                  
VN49-B05.10    58030B50T000   QJ    Side Stand Bracket                                          
VN49-B05.11    57005B50T000   QJ    Bolt M8, Side Stand                                         
VN49-B05.12    57003B50T000   QJ    Return Spring (Side Stand)                                  
VN49-B05.13    58700B50T000   QJ    Side Stand Assy (includes 10,11,12,26)                      
VN49-B05.14    58502B50T000   QJ    Main Stand Spring                                           
VN49-B05.15    58507B50T000   QJ    Main Stand Absorber                                         
VN49-B05.16    40022B0ET000   QJ    Mainstand Clip                                              
VN49-B05.20    58501F0AT000   QJ    Main Stand Axle                                             
VN49-B05.25    58340B50T000   QJ    Bushing (Main Stand)                                        
VN49-B05.26    58700B50T000   QJ    Side Stand                                                  
VN49-B06.01A   40460B50T002   QJ    Left Mirror (9 1/2")                                        
VN49-B06.02    65500B50T000   QJ    Decorative Wind Screen with brackets                        
VN49-B06.03    65510B50T000   QJ    Bracket for Decorative Windscreen                           
VN49-B06.04    65501B50T000   QJ    Decorative Windscreen without brackets                      
VN49-B06.05    40002B50T000   QJ    Left Lever                                                  
VN49-B06.06    40014B50T000   QJ    Right Lever                                                 
VN49-B06.07A   40470B50T002   QJ    Right Mirror (9 1/2")                                       
VN49-B06.07B   QJ    Universal Mirror 6 3/4" Stem                                
VN49-B06.08A   40300B50T001   QJ    Throttle Cable (with Splitter) - 2003+                      
VN49-B06.09    40180B50T000   QJ    Handlebar Mounting Bracket                                  
VN49-B06.10BLK 40210B50T001   QJ    Right Grip - Black                                          
VN49-B06.11    40250B50T000   QJ    Front Brake Cable                                           



VN49-B06.12    40270B50T000   QJ    Rear Brake Cable                                            
VN49-B06.13    43013B50T000   QJ    Lower Handlebar Bracket                                     
VN49-B06.14    40500B50T001   QJ    Left Control Switch                                         
VN49-B06.15    40600B50T001   QJ    Right Control Switch                                        
VN49-B06.16    40001B50T000   QJ    Left Grip - Neutral                                         
VN49-B06.16BLK 40001B50T001   QJ    Left Grip - Black                                           
VN49-B06.17    40101B50T000   QJ    Handlebar                                                   
VN49-B06.18    43012B50T000   QJ    Mounting Seat Cover                                         
VN49-B06.19    43014B50T000   QJ    Upper Handlebar Bracket                                     
VN49-B06.20    B01091004565   QJ    Bolt M10 x 1.25 x 45                                        
VN49-B06.21    B04171012555   QJ    Nut M10 x 1.25                                              
VN49-B06.22    B02000501224   QJ    Screw M5 x 12                                               
VN49-B06.23    B01070601264   QJ    Bolt M6 x 12                                                
VN49-B06.24    B04171012544   QJ    Nut M10 x 1.25  Chromed                                     
VN49-B06.25    B07030000500   QJ    Washer 5                                                    
VN49-B06.26    40008B0ET000   QJ    Brake Cable Jacket - Right                                  
VN49-B06.27    B01070603064   QJ    Bolt M6 x 30                                                
VN49-B06.28    B04070500055   QJ    Nut M5                                                      
VN49-B06.30    65509B50T000   QJ    Brake Cable Jacket                                          
VN49-B06.31    40015B50T000   QJ    Screw                                                       
VN49-B06.34    40007B0ET000   QJ    Brake Cable Jacket - Left                                   
VN49-B07.01    50100B50T000   QJ    Fuel Tank, Plastic                                          
VN49-B07.01A   VN49-B07.01A   QJ    Fuel Tank, Metal                                            
VN49-B07.02    50200B50T000   QJ    Fuel Tank Cap w/Keys                                        
VN49-B07.03    50800B50T000   QJ    Fuel Level Sending Unit                                     
VN49-B07.04    50320B50T000   QJ    Petcock                                                     
VN49-B07.05    50012B50T000   QJ    Water Drain Hose (18" length)                               
VN49-B07.06    50013B50T000   QJ    Connecting Pipe, Water Drain Hose                           
VN49-B07.07    50011B50T000   QJ    Gasket (Fuel Tank)                                          
VN49-B07.08    64002BMAT000   QJ    Mounting Plate Sensor (Part of VN49-B7.3)                   
VN49-B07.09    50004B50T000   QJ    Gasket, Fuel Tank                                           
VN49-B07.10    50301B50T000   QJ    Fuel Line (12" length)                                      
VN49-B07.11    50307J00P000   QJ    Clip, Vacuum Hose                                           
VN49-B07.12    50324B50T000   QJ    Fuel Line Spring                                            
VN49-B07.13    50701B50T000   QJ    Vacuum Line                                                 
VN49-B07.14    50302B50T000   QJ    Short Fuel Line (tank to filter 3 1/2")                     
VN49-B07.15    B01090601664   QJ    Bolt  M6 x 16                                               
VN49-B07.17    50340B50T000   QJ    Fuel Filter                                                 
VN49-B07.18    50303B50T000   QJ    Long Fuel Line (filter to petcock 6 1/2")                   
VN49-B07.19    B04070600054   QJ    Nut M6                                                      
VN49-B08.04    49200B0AT000   QJ    Air Filter Element                                          
VN49-B08.08    B01090602065   QJ    Bolt M6 x 20                                                
VN49-B08.11    49016F0BT000   QJ    Clip                                                        
VN49-B08.12    49000B0AT000   QJ    Air Cleaner Assembly                                        
VN49-B08.14    57051B2GT000   QJ    Plate,One Way Valve                                         
VN49-B08.15    49853BMMT001   QJ    Hose II 85mm                                                
VN49-B08.16    49852BMMT001   QJ    Hose I 380mm                                                
VN49-B08.17    49851BMMT001   QJ    Hose 550mm                                                  
VN49-B08.19    49805BMBT000   QJ    Spring Lock  17.5                                           
VN49-B08.20    49870B2GT000   QJ    Air Cleaner, Small                                          
VN49-B08.21    49855B0ES000   QJ    Spring Lock 16.5                                            
VN49-B09.01    64001B50T000   QJ    Oil Tank (1" neck)                                          
VN49-B09.02    64091B50T000   QJ    Oil Tank Cap (fits 1 1/2" neck)                             
VN49-B09.02A   64091B50T000   QJ    Oil Tank Cap (fits 1" neck)                                 
VN49-B09.03    B01090601664   QJ    Bolt 6 x 16mm                                               
VN49-B09.04    50307J00P000   QJ    Oil Hose Clip                                               
VN49-B09.05    64100B50T000   QJ    Oil Level Sending Unit                                      
VN49-B09.06    64002BOCT000   QJ    Oil Tank 8 mm Clamp (Clip)                                  
VN49-B09.10    64004B50T000   QJ    Oil Supply Hose (30" length)                                
VN49-B10.01    65401B50T000   QJ    Floorboard - Neutral                                        



VN49-B10.01BLK 65401B130020   QJ    Floorboard - Black                                          
VN49-B10.01WHT 65401B50TBE0   QJ    Floorboard - White                                          
VN49-B10.02    65406B50T000   QJ    Belly Pan                                                   
VN49-B10.03    65411B50T000   QJ    Battery Compartment Cover - Neutral                         
VN49-B10.03WHT 65411B50TBE0   QJ    Battery Compartment Cover - White                           
VN49-B10.04    65801J0ET000   QJ    Clip                                                        
VN49-B10.05    B13060601203   QJ    Screw M6 x 12                                               
VN49-B10.06    B07020000604   QJ    Washer                                                      
VN49-B10.07    B050042016604  QJ    Self Tapping Screw M4.2 x 16                                
VN49-B10.08    B07020000505   QJ    Washer 6mm                                                  
VN49-B10.09BLK 65413B50T000   QJ    Floormat - Black                                            
VN49-B10.10    B02000602064   QJ    Screw M6 x 20                                               
VN49-B10.11    65811B50T000   QJ    Battery Damper                                              
VN49-B11.01    08002B50T001   QJ    Wing Screw                                                  
VN49-B11.02    08250B50T001   QJ    License Plate Bracket                                       
VN49-B11.03BLK 65601B50TB51   QJ    Side Cover Left - Black                                     
VN49-B11.03BLU 65601B50TLT1   QJ    Side Cover Left - Blue                                      
VN49-B11.03BURG 65601B50TRR1   QJ    Side Cover Left - Burgundy                                  
VN49-B11.03GRN 65601B50TGB1   QJ    Side Cover Left - Green                                     
VN49-B11.03PNK 65601B50TTV    QJ    Side Cover Left                                             
VN49-B11.03RASP 65601B50TRY1   QJ    Side Cover Left - Raspberry                                 
VN49-B11.04WHT 65605B50TBE0   QJ    Front Body Cover - White                                    
VN49-B11.05WHT 65606B50T000   QJ    Rear Body Panel - White                                     
VN49-B11.06BLK 65602B50TB51   QJ    Side Cover Right - Black                                    
VN49-B11.06BLU 65602B50TLT1   QJ    Side Cover Right - Blue                                     
VN49-B11.06BURG 65602B50TRR1   QJ    Side Cover Right - Burgundy                                 
VN49-B11.06GRN 65602B50TGB1   QJ    Side Cover Right - Green                                    
VN49-B11.06PNK 65602B50TTV    QJ    Side Cover Right                                            
VN49-B11.06RASP 65602B50TRY1   QJ    Side Cover Right - Raspberry                                
VN49-B11.07BLK 65609B50T000   QJ    Oil Tank Cover - Black                                      
VN49-B11.07BLU 65609B50TLT0   QJ    Oil Tank Cover - Blue                                       
VN49-B11.07BURG 65609B50TRR0   QJ    Oil Tank Cover - Burg                                       
VN49-B11.07GRN 65609B50TGB0   QJ    Oil Tank Cover - Green                                      
VN49-B11.07PNK 65609B50TTV    QJ    Oil Tank Cover                                              
VN49-B11.07RASP 65609B50TRY0   QJ    Oil Tank Cover - Raspberry                                  
VN49-B11.08    B50T000        QJ    Seat Lock Rubber Ring                                       
VN49-B11.13    B07030000604   QJ    Washer 6                                                    
VN49-B11.14    B090303012A4   QJ    Roll Pin                                                    
VN49-B11.15    B13060601603   QJ    Screw M6 x 16 w/washer (Brass)                              
VN49-B11.17    B04070600064   QJ    Nut M6                                                      
VN49-B12.01    63000B50T000   QJ    Rear Shock Absorber                                         
VN49-B12.02    08014J0ET000   QJ    Bolt M10 x 1.25 x 40                                        
VN49-B12.03    B01070803564   QJ    Bolt M8 x 32                                                
VN49-B12.04    B04071012554   QJ    Nut 10 x 1.25                                               
VN49-B13.01    51100B50T000   QJ    Seat - Neutral                                              
VN49-B13.01CAML 51100B50T000   QJ    Venice Seat - Camel                                         
VN49-B13.02    65803J0ET000   QJ    Nut 6mm                                                     
VN49-B13.03    51004B50T000   QJ    Seat Storage Compartment                                    
VN49-B13.04    51083B50T000   QJ    Seat Connecting Plate                                       
VN49-B13.05    51001B50T000   QJ    Seat Pin                                                    
VN49-B13.06    51006B50T000   QJ    Storage Compartment Mat                                     
VN49-B13.07    B04070600053   QJ    Nut M6                                                      
VN49-B13.08    B13060601603   QJ    Screw M6 x 16 w/washer (Brass)                              
VN49-B13.09    51070B50T000   QJ    Seat Lock Bracket                                           
VN49-B13.10    B05004801605   QJ    Screw 4.8 x 16 Self Tapping                                 
VN49-B13.11    51490B50T000   QJ    Rubber Seat Gasket (48" length)                             
VN49-B13.15    58800B130000   QJ    Seat Latch Mechanism                                        
VN49-B14.01    52100B50T001   QJ    Rear Luggage Rack                                           
VN49-B14.02    B04070600054   QJ    Nut M6                                                      
VN49-B14.04    B07030080004   QJ    Washer 8MM                                                  



VN49-B15.01    86500B50T000   QJ    Rear Reflector Assy.                                        
VN49-B15.02    65701B50T000   QJ    Rear Fender                                                 
VN49-B15.03    65801J0ET000   QJ    Clip                                                        
VN49-B15.04    B04070500044   QJ    Nut M5                                                      
VN49-B15.05    65702B50T000   QJ    Mud Guard                                                   
VN49-B16.01    B04171415054   QJ    Nut M14 x 1.5                                               
VN49-B16.02    B140104F10AA   QJ    Tire (Front or Rear) 90/90-10                               
VN49-B16.03    B01020603244   QJ    Bolt M6 x 32                                                
VN49-B16.04    54100BMLT000   QJ    Rear Wheel Rim                                              
VN49-B16.05    44500B0AT000   QJ    Brake Shoes, Rear (Set of 2)                                
VN49-B16.06    44001B0AT000   QJ    Brake Shoe Spring (long 3/4")                               
VN49-B16.07    54003B0AT000   QJ    Rear Brake Camshaft                                         
VN49-B16.08    B04170600064   QJ    Nut M6                                                      
VN49-B16.09    54007B0AT000   QJ    Rear Brake Camshaft Arm                                     
VN49-B16.11    B1403Z201100   QJ    Valve Stem                                                  
VN49-B16.12    54002B0AT000   QJ    Wear Indicator                                              
VN49-B16.13    54008B50T000   QJ    Tension Spring                                              
VN49-B17.01    47000B50T002   QJ    Muffler (up to 2005)                                        
VN49-B17.01A   47100B0DT001   QJ    Muffler w/Catalyst (2006 + )                                
VN49-B17.02    47800B0DT000   QJ    Exhaust Pipe Gasket                                         
VN49-B17.03    47740B0ET000   QJ    Exhaust Pipe Bushing                                        
VN49-B17.04    47760B0CT000   QJ    Heat Shield                                                 
VN49-B17.05    B01070601665   QJ    Bolt M6 x 16                                                
VN49-B17.06    B01090802065   QJ    Bolt M8 x 20                                                
VN49-B17.07    B01070803065   QJ    Bolt M8 x 30                                                
VN49-B17.09    47016B50T000   QJ    Speed Restrictor Kit 40/30mph                               
VN49-B18.01    08350B50T001   QJ    Kick Starter Assy.                                          
VN49-B18.02    B01020602565   QJ    Bolt M6 x 25                                                
VN49-B19.01    44100B50T000   QJ    Front Wheel Rim                                             
VN49-B19.02    44400B0AT000   QJ    Brake Hub                                                   
VN49-B19.03    44500B0AT000   QJ    Brake Shoes, Front (Set of 2)                               
VN49-B19.04    44300B0AT000   QJ    Dust Seal                                                   
VN49-B19.05    44004B50T000   QJ    Front Wheel Axle                                            
VN49-B19.06    44201B0AT000   QJ    Speedometer Gear                                            
VN49-B19.07    44202B0AT000   QJ    Speedometer Pinion                                          
VN49-B19.08    44203B0AT000   QJ    Gear Washer                                                 
VN49-B19.09    44204B0AT000   QJ    Pinion Washer                                               
VN49-B19.10    44205B0AT000   QJ    Bushing - Pinion                                            
VN49-B19.11    44016B0AT000   QJ    Right Spacer                                                
VN49-B19.13    44003B0AT000   QJ    Front Brake Camshaft Arm                                    
VN49-B19.14    44007B0AT000   QJ    Front Brake Lever                                           
VN49-B19.15    44008B0AT000   QJ    Brake Return Spring                                         
VN49-B19.16    44001B0AT000   QJ    Brake Shoe Spring (short 1/2")                              
VN49-B19.17    44002B0AT000   QJ    Wear Indicator                                              
VN49-B19.18    44015B0AT000   QJ    Front Brake Camshaft Seal                                   
VN49-B19.19    44023B0AT000   QJ    Speedometer Drive Plate                                     
VN49-B19.21    B14010FF10AA   QJ    Tire   (Use VN49-B16.02)                                    
VN49-B19.22    44019B50T000   QJ    Brake Cable Guide                                           
VN49-B19.23    B12046600300   QJ    Bearing 180200 (Front Wheel)                                
VN49-B19.24    B02020502024   QJ    Screw M5 x 20                                               
VN49-B19.25    B04171012554   QJ    Nut 10 x 1.25                                               
VN49-B19.26    44300B5OT000   QJ    Oil Seal (Front Wheel)                                      
VN49-B19.27    B04170600064   QJ    Nut M6                                                      
VN49-B19.28    B01090603564   QJ    Bolt M6 x 35                                                
VN49-B19.31    44600B0AT000   QJ    Spacer (Front wheel)                                        
VN49-B20.01    QJ50QT5017     QJ    Venice Tool Kit Assembly                                    
VN49-B21.09    QJ    Installation Kit.  see notes                                
VN49-B23.01    05521B50T002   QJ    Venice Decal (Front Cover)                                  
VN49-B23.02    05521B50T002   QJ    Venice name plate (side cover)                              
VN49-B23.03    65311B50T000   QJ    Pin Nut                                                     



VN49-B23.04    05512B50T002   QJ    "QS-50QT-5" DECAL(side cover)                               
VN49-B25.01    47100B0DT001   QJ    Muffler Assembly                                            
VN49-B25.18    49840B0ES000   QJ    One Way Valve                                               
VN49-B25.21    49855B0ES000   QJ    Spring Clamp, 16.5                                          
VN49-B26.14    57051B2GT000   QJ    Plate, One Way Valve                                        
VN49-B26.15    49853BMMT001   QJ    Hose, 85 mm                                                 
VN49-B26.16    49852BMMT001   QJ    Hose, 400 mm                                                
VN49-B26.17    49851BMMT001   QJ    Hose, 670 mm                                                
VN49-B26.19    49805BMBT000   QJ    Spring Clamp, 17.5                                          
VN49-B26.20    49870B2GT000   QJ    Air Cleaner, Small                                          
VN49-BCLOCK    02930B50T000   QJ    48" Cable Lock                                              
VN49-CARB-KIT  SEP PARTS      QJ    Venice Carburetor Rebuild Kit                               
VN49-CCA       CRANKCASE ASSY QJ    Crankcase Assembly                                          
VN49-DECAL     NEED #         QJ    Use VN49-B23.2                                              
VN49-E01.01    30701B01F00A   QJ    Cylinder Head                                               
VN49-E01.02    30507B01F000   QJ    Cylinder Head Gasket                                        
VN49-E01.03    30506G02F000   QJ    Spark Plug                                                  
VN49-E01.03A   201204.013 QJ    Spark Plug (BR8HSA)                                         
VN49-E01.04    27101B01F00A   QJ    Cylinder                                                    
VN49-E01.05    27102B01F000   QJ    Cylinder Base Gasket                                        
VN49-E01.06    26107B01F910   QJ    Cylinder Stud                                               
VN49-E01.07    26127G02F910   QJ    Cylinder Head Nut                                           
VN49-E02.02    26108G02F000   QJ    Collar Assy                                                 
VN49-E02.03    B12016600300   QJ    Bearing 6003                                                
VN49-E02.04    26126G02F000   QJ    Crankcase Breather                                          
VN49-E02.05    26200B01F000   QJ    Crankcase Assy RIGHT                                        
VN49-E02.06    B12016600350   QJ    Bearing 6003                                                
VN49-E02.08    26126G02F000   QJ    Dowel Pin                                                   
VN49-E02.10    26109B01F000   QJ    Engine Mount Axle                                           
VN49-E02.11    B080100001700  QJ    Circlip                                                     
VN49-E02.12    18101G02F001   QJ    Gearbox Cover                                               
VN49-E02.13    18100G02F000   QJ    Gearbox Gasket                                              
VN49-E02.14    207208.009 QJ    Side Cover Gasket                                           
VN49-E02.15    26208G02F000   QJ    Dowel Pin 10x14                                             
VN49-E02.18    207200.048 QJ    Side Cover                                                  
VN49-E02.19    26128G02F000   QJ    Shaft                                                       
VN49-E02.20    26208G02F000   QJ    Dowel Pin                                                   
VN49-E02.21    B01070602562   QJ    Screw M6 x 25                                               
VN49-E02.24    26202G02F000   QJ    Gearbox Oil Fill Plug                                       
VN49-E02.25    26102G02F000   QJ    O-Ring                                                      
VN49-E02.26    26127G02F730   QJ    Gearbox Oil Drain Plug                                      
VN49-E02.27    26124G02F000   QJ    Washer                                                      
VN49-E02.28    26214G02F000   QJ    Holder                                                      
VN49-E02.30    26216G02F000   QJ    Crankcase Gasket                                            
VN49-E02.31    14302G02F000   QJ    Plastic Protective Cover                                    
VN49-E02.32    B12016600400   QJ    M6 Screw (Protective Cover)                                 
VN49-E02.37    26142G02F000   QJ    Brake Shoe Anchor Pin                                       
VN49-E02.39    26142T02F000   QJ    O-Ring                                                      
VN49-E02.40    14113G02F000   QJ    Rubber Bushing                                              
VN49-E03.01    15200B01F000   QJ    Crankshaft Assy.  (10mm Piston Pin)                         
VN49-E03.01A   208100.022 QJ    Crankshaft Assy.  (12mm Piston Pin)                         
VN49-E03.04    15114B01F000   QJ    Needle Bearing                                              
VN49-E03.07    15101B01F000   QJ    Woodruff Key                                                
VN49-E03.08    B12016620453   QJ    Crankshaft Bearing                                          
VN49-E03.09    15213G02F000   QJ    Oil Seal 20x42x8                                            
VN49-E03.10    26215G02F000   QJ    Oil Seal 20x30x8                                            
VN49-E03.12    15100B01F000   QJ    Piston (10mm Piston Pin)                                    
VN49-E03.12A   15100B01F00B   QJ    Piston (12mm Piston Pin)                                    
VN49-E03.13    15105B01F000   QJ    Piston Pin  (10mm Piston Pin)                               
VN49-E03.13A   15105B16F000   QJ    Piston Pin  (12mm Piston Pin)                               



VN49-E03.14    15103B01F000   QJ    Piston Ring (Set of 2)                                      
VN49-E03.15    15111B01F000   QJ    Circlip  (10mm Piston Pin)                                  
VN49-E03.15A   15111G02F000   QJ    Circlip  (12mm Piston Pin)                                  
VN49-E03.16    15110B01F000   QJ    Needle Bearing (13mm dia.)                                  
VN49-E03.16A   15110B16F000   QJ    Needle Bearing (16mm dia.)                                  
VN49-E03.17    17308G02F000   QJ    Circlip                                                     
VN49-E04.01A   219101.012 QJ    Oil Pump (splitter cables)                                  
VN49-E04.10    19216B09F000   QJ    Oil Hose                                                    
VN49-E04.11    19217G02F00A   QJ    Hose Clip                                                   
VN49-E04.14    15211G02F000   QJ    Oil Pump Drive Gear                                         
VN49-E05.01    34310G02F000   QJ    Stator/Generator                                            
VN49-E06.01    CARBURETOR     QJ    Carburetor Assy. (18mm)                                     
VN49-E06.01A   224100.043 QJ    Carburetor Assy                                             
VN49-E06.02    32612B01F000   QJ    Auto Enrichener                                             
VN49-E06.10A   32510B01F000   QJ    Needle Jet                                                  
VN49-E06.10B   32511B01F000   QJ    Slide                                                       
VN49-E06.10C   224202.1 QJ    Main Jet                                                    
VN49-E06.10D   32619B01F000   QJ    Float Pin                                                   
VN49-E06.10E   32620B01F000   QJ    Float                                                       
VN49-E06.10F   32701B01F000   QJ    Float Bowl Gasket                                           
VN49-E06.10G   32609B01F000   QJ    Idle Jet                                                    
VN49-E06.10H   32508B01F000   QJ    V Clip                                                      
VN49-E06.10J   32617B01F000   QJ    Needle Valve                                                
VN49-E06.10K   32618B01F000   QJ    Needle Valve Hook                                           
VN49-E07.01    20301B01FT10   QJ    Cowling                                                     
VN49-E07.02    20303G02F000   QJ    Clamp                                                       
VN49-E07.03    20201B01FT10   QJ    Cooling Fan Cover                                           
VN49-E07.04    20203G02F910   QJ    Collar                                                      
VN49-E07.10    20401B01F000   QJ    Fan Assy.                                                   
VN49-E07.11    20402G02F000   QJ    O-Ring                                                      
VN49-E08.01    CLUTCH ASSY    QJ    Start Clutch Assy.                                          
VN49-E08.03    34123G02F000   QJ    Thrust Washer                                               
VN49-E08.04    34400G02F000   QJ    One-way Clutch                                              
VN49-E08.08    34125G02F000   QJ    Idler Gear Holder                                           
VN49-E08.11    216100.004 QJ    Kick Shaft Assy                                             
VN49-E08.12    17407G02F000   QJ    Spring                                                      
VN49-E08.16    17415G02F000   QJ    Kickstart Drive Gear                                        
VN49-E08.18    34200G02F000   QJ    Starter Motor                                               
VN49-E09.01    24201B01F000   QJ    Drive Shaft                                                 
VN49-E09.06    24203G02F000   QJ    Oil Seal 17x28x5                                            
VN49-E09.10    24700G02F000   QJ    Clutch Drum                                                 
VN49-E09.11    24305G02F940   QJ    Nut                                                         
VN49-E09.12    24243G02F000   QJ    O-ring                                                      
VN49-E09.13    24209G02F000   QJ    Bearing 638Z (8x28x8)                                       
VN49-E09.14    24101G02F000   QJ    Sliding Pulley                                              
VN49-E09.15    24102B01F000   QJ    Rollers (Set of 6)                                          
VN49-E09.16    24103G02F000   QJ    Roller Plate                                                
VN49-E09.17    24104G02F000   QJ    Roller Plate Bushing                                        
VN49-E09.18    24105G02F000   QJ    Sleeve                                                      
VN49-E09.19    24106B01F000   QJ    Washer                                                      
VN49-E09.20    24107G02F000   QJ    V-Belt    (788x17x28)                                       
VN49-E09.21    24108G02F000   QJ    Fan Pulley                                                  
VN49-E09.22    24109G02F000   QJ    Star Washer                                                 
VN49-E09.23    24110G02F000   QJ    One Way Collar                                              
VN49-E09.24    15112G02F010   QJ    Washer                                                      
VN49-E09.25    B04031212553   QJ    Nut                                                         
VN49-E09.33    CLUTCH ASSY    QJ    Clutch Assy.                                                
VN49-E09.34    NEED PART      QJ    Variator Assembly                                           
VN49-E10.01    17800B01F000   QJ    Idler Gear Assy                                             
VN49-E10.02    B12016620100   QJ    Radial bearing 6201                                         



VN49-E10.03    17509G02F000   QJ    Washer                                                      
VN49-E10.04    17802G02F000   QJ    Washer Spring                                               
VN49-E10.05    17300B01F000   QJ    Output Shaft Assy                                           
VN49-E10.06    B12016600400   QJ    Bearing 6004                                                
VN49-E10.07    17317G02F000   QJ    Oil Seal 23x35x6                                            
VN49-E10.08    17308G02F000   QJ    Circlip                                                     
VN49-E10.09    26136G02F000   QJ    Needle Bearing                                              
VN49-E11.01    32300G02F000   QJ    Reed Valve Assy                                             
VN49-E11.06    202306.002 QJ    Valve Seat Gasket                                           
VN49-E11.09    32207G01F000   QJ    Gasket, Intake Pipe                                         
VN49-E11.10    32200G02F000   QJ    Intake Pipe                                                 
VN49-E11.12    32202G01F000   QJ    Hose Clamp                                                  
VN49-E11.13    32237G02F000   QJ    Rubber Hose                                                 
VN49-ENGINE    QJ50-ENGINE    QJ    Venice 49cc Engine w/Carb                                   
VN49-RCBOX-BLK 52210B50TB51   QJ    Venice "Retro Style" Cargo Box - Black                      
VN49-RCBOX-BURG 52210B50TRR1   QJ    Venice "Retro Style" Cargo Box - Burgundy                   
VN49-RCBOX-GRN 52210B50TGB1   QJ    Venice "Retro Style" Cargo Box - Green                      
VN49-RCBOX-RASP 52210B50TRY1   QJ    Venice "Retro Style" Cargo Box - Raspberry                  
VN49-SC-COVER  02940B50T000   QJ    Nylon Scooter Cover                                         


